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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given.in.front of each question with Marker

or pen ink on the answer sheet provided.

1.1. The process in which there is incomplete-oxidation-reduction _ ﬁﬂfi;ﬁ&-ﬁﬁ&ﬁdu,‘ﬁ! A4
of glucose is called: | | ; _;:_.I:'U-,»‘f.»:-_,
(A) Biotechnology (G.yLEY¥L (B) DNA technology JtEDNA '
| {C) Genetic engineering £ /:.Jffw@’ Teeis . (D) Fermentation u"'f-'k‘:?
2. Which durgs reduce the possibility of infections on skin? | "JJ/(‘LLEZ- i’-/“"ﬁifﬁb;ﬂ- .[;uiu);/ 2
(A) Antibiotics u‘r}f@@l (B) Analgesics Jaf&l (C) Antlsepilcs J{LS’F {D) Vaccines /‘g:
"3 The muscles of ribs are called: | LWL 3
. '(A). Smooth muscles A | (B) Cardiac muscles -)J"/..,_Q/.‘i.xf
(C) Intercostal muscles bt J’:f#-f | (D) Costal musclés # JL’:(
4. The functional unit of kidney is -%JKIL}_W'JF_.MF
(A) Glomerulus ufe/::‘f (B) - Bowman's capsule Jsrrts
(C) Loop of Henle J_‘;UT.,__J (D) Nephron L-J.s;}':’
) 5. Which one controls rage, Pain, Pleasure énd sorrow? o ?%tjvjﬂdﬁﬁ;rf}:_w:ﬁ B
(A) Cerebellum f‘"’;{ (B) Medulla Usir (C) Hypothalamus J‘{:’:} (D) Midbrain /4 4
6. Which one is co-ordinator in nervous co-ordination? e VASHWAT LT 6
(A) Glands ¥ ' - (B) Brain and spinal cord 5;[&/(}’/.[::-*:’.5[[;:4
(C) Brain ¢/« (D) Spinal cord .;JKJ';L--
7. Tendons and ligaments are bands of: ' ' - uggbﬁuiﬂé Vi
(A) Connective tissue ?jﬁg (B) Muscular tissue S
(C) Nerve tissue 5/ (D) Epidermal tissue #Ub3
8. Pollen tube carries: | | | -L,{;E..:ru:h,«:f;fg 8
(A) Eggs- £ (B) Sperms (C) Microspores J;:._':';/?L (D) Megaspores e
9. The female reproductive part of flower is: ' | -:f_.,.-b;f}:,;.,auifis’d:ﬁ 9
(A) Carpels A8 . (B) Sepals 4~ (C) Petals (D) Stamens /’
- 30. The term "True breedihg" means. | _;5.5’{‘:..@_;;)”{,11&»! 10
(A) Heterozygous Jgiﬁﬁ (B) Homologous U’fjjfy
K (C) Heterologous .;,,,zjﬂj:j;_'? (D) Homozygous ‘_;‘!-:uﬁ;
11. James Watson and Francis Crick proposed the structure of DNA in; _Jﬁ:ﬂ bd’DNAé_JfJ—{if;le'jf;y.f‘ 11
(A) U #1951 A.D (B) U* #1952 A.D (C) %1953 AD (D) ¥ 1954 AD
12. A recovery of one tonne of paper can save how many tress? Y. ﬂ@gg;@?ﬂaf:_.i_mﬁs’upuﬁé OSORY.
(A) 17 (B) 170 (C) 200 (D) 1000
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S.8.C - (Part-II) -A-2015

RollNo._____________ « Soinet|  (New course;New Scheme) | SubjectCode| 5 10| 4 |6
Sessions;2012-2014 & 2013-2015
Biology (essay Type) - Group-I- s/ (FEN ‘-'-'"g .l:’
Marks: 63 Time: 2:45 Hours & 2:45:=5 63: /7
Section-I 2x16=32 gd,J,sL.m
2- Write short answers of any Six part from the following. 2x6=12 LL?f"ZFI]f.n?&-JbetJJZ/JJ -2
i. Write down the name of chemicals found in cigarette smoke cause cancer. _uﬁ’grLbuh"lem./x/{Ju’ﬁd:w i
ii. Write down the fuction of alveoli | g frsdud i
iii. Who are Passive smokers and how they are affetted? S Lwe S gl i
iv. How plants remove extra O,and CO,? '?’u*g__,f @JLQL'/ COLusl™ THbe sy v
v. What is tubular secretion? Sl Al ik v
vi. Write down two major causes of kidney failure. dﬂ;i?}dz’qu—-J’ﬁchﬁuu}; Vi
vii. What is meant by response? . {'LJ/LI'LL/JL"J* Vil
viii. Write down the function of Thalmus. $11 Viii
xi. Write down the structure of internal ear. u“'g_«?btfuh’dsm X
3- Write short answers of any five part from the following.  2x5=10 EU_JL!?/“ZFIFE as_.dfr:'.uﬁ [l =3
i. What are Flexor and Extensor? Se W Al 5
ii. Define origin and insertion. - -qu-ﬂ/"t.{uf/b:fu;ﬂf i
iii. State Osteoarthrits. S Al i
iv. State Calluses. wu’fubf b‘f v
v. Define Pollination and cross pollination. -u’faﬂj"u( !J-*'J’/rﬂl.fd! v
vi. Define Natural selection. ..u’/(.ﬂﬁ,, L}dm Vi
vii. State selective breeding. | ‘U‘é’ fﬁf 2 i
viii. Define continuous variations. _.J/_ﬂ/"J-.J/”«J’J/ .Viii
4- Write short answers of any five part from the following. 2x5=10 .&q...u;/d.ﬁpm 6L¢GILL£J ;Z,.:: -4
i. Write names of four abiotic factors of an Ecosystem. f’g L&Jrﬂrbﬁ ,f"_fgta_,lu" :HI N
ii. State the role of food chain in food web formation. Yoo df:i,rbfbfﬁ;fu' Lln...fm’ i
iii. Define thermodynamics. Write its one benefit in an ecosystem. ﬁ‘a» b..f&’u’uj’(’/;(l J/J,”Ju’[pl y’/" i
iv. State alcoholic fermentation. A
v. How gene is entered into a vector? “Lt'b l}f.-,df.m W/ u'f_,r"" R
vi. How maximum protein is obtained by yeast by | uL,::_.uL.m:.,(yeast)_.H:;,u d/.,f/"f WLV
genetic engineering? “.::, bJJ‘ chi/u':f
vii.- Give details of drugs obtained from animals? _J/’ub‘_}"” l;h_#LJ.!iﬂJ/r()‘ by sl Vil
viii. Define analgesics and give two examples. _ -L)’JJJL«'::J;U '...c'f’J =1 .viii
Section -I1 43 0>

Note: Answer any three questions from the following. Tx3=21 j«' ...fLLhC....-rUIr uf d’(‘:ﬂ-f (J' 3los _J
5. (a) Define bronchitis. Write its causes and four symptoms. 04 ....fi.ﬂaim f:ﬁ ;;»_:J/ U= b.u' (A1)

(b) Explain the role of lungs, skin and kidneys 03 lfu‘ JJ‘!"!’.'L_ dlzee_saefS3UIL(L)
in homeostasis. j::vm“u' 5! _;u/

6. (a) Explain Reflex action. 04 La:d/ufl J-(._w‘i) .6
(b) Write notes on Axial skeleton and Appendicular skeleton. 03 _ﬂ_,yfw-j’@)y: JJ'JJV%J,/(I i)
7. (a) Why reproduction is necessary for living organims. Describe 04 —LLSJ.!/"LJ}I ﬂ:,—uu’ Unielb (3D 7
any three methods of a sexual reproduction. ﬁﬁ/‘;&/’uf#-u}f&u/';%}f&-’
(b) Define double fertilization. Where it takes place and 03 .c_dyuu’ o «_ﬂ;’Jwrw;J;-(u)
what are its products? “LVWL&:_JI;:F
8. (a) Explain Mendel's law of independent assortment 04 wﬁrlukdwi_ﬁlULL}MauJJLﬁ_ () .8
with an example. -J/JWJJ
(b) Draw a diagram for the carbon cycle and write names 03 S f...a'-fLJI;:JJ l.q)‘“&ﬁ Lers()
of its various steps. ; i:r‘_':
9. (a) Discuss the application of fermentation. 04 :f( szwiﬁu’%ﬁ_(dl) 9
(b) Explain three major groups of antibiotics. 03 -ul.qf :):...xJ LJ@LJ i (».-.-)
Section -III (Practical) (LF
NOTE: Answer any two parts from A,B and C. 5x2=10 _u’j} I-..-’LI.?LP’I] ua..d:( e Eml.....-r..ell Ly
10.(A) (i).You observed seeds of maize and gram. Draw labelled 03 .{ia__u’awmféa,muf— <T.(i) -(=#).10
figure of gram seed. _u‘ L»,rr‘!w G
(ii). What are the functions of micropyle and endosperm? 02 ?Jﬂb@f.rf:xruld’ L:;L (ii)
(B) (i).You performed experiment to observe presence of tarinthe 03 2 el i o AL s T () ()
smoke of cigarette. Write procedure of this experiment. K /Lba_ AU f
(il).What are the effects of passive smoking? 02 S AL T3 (i
(C) (i).You performed experiment to oberve shin muscle contraction 03 W o yéi\_ﬁ.w_.ul (i) (@)
of frog. Write procedure of this experiment. Y~ (J}(L/JL 4

(ii).What is meant by antagonastic muscles? Give an example. 02 -(] de:»..f*‘.-:..;/bf. )’/...ﬁl.fw (ii)
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RollNo._____ _/inet| (New Course;New Scheme) | PaperCode| 7 | 4 | 6 | 4
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each guestion

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1. The product used in printing is: —+dﬁf{d'ﬂLﬁJW’¢v@{ 14
(A) Formic acid <1406 (B) Acrylic acid A2/L/1  (C) Ethanol Jss (D) Glycerol JJ/F
2. Which of the following drugs is obtained from plants? ‘i‘.;;.tjlgz.ﬂ.)" bad!!{“—*dulfuﬂw' .
(A) Aspirin ¢/ ¢! (B) Opium s (C) Cephalosporin guss#~ (D) Insulin 2!
3. Which disease is invoived in the breakdown of air sacks of the lungs? ?L,gz_t?.:,ﬁu'?ﬁfuiuszﬁddﬂzwf 3
(A) Pneumonia ¥  (B) Bronchitis U~ s (C) Asthma s (D) Emphysema (%
4. Maintenance of balance in the amounts of water,minerals, _s;:-t‘ﬂﬁlmc,’-”;uf(;' b/i!%!'-w‘fei—"@.lﬁ&‘; 4
temperature and glucose in the body is called.
(A) Excretion J’-ffc'g! (B) Tubular secretion l;,f"-{/..@x;f (C) Homeostasis J"f’:_:‘ﬂ (D) Reabsorption cf){-'ﬂ;cf-' S/
5. Where are insulin and glucogon produced? St &ubfuf Kﬁ;lﬁrj .0
(A) Hypothalemus (™ éé",ﬂ (B) Anterior pituitary ($/£4/2
(C) Liver £ (D) Pancreas Jl_.ﬁ.:?
6. Process that carry nerve impulses away from the me W A inE s L) B
cell body are called. . -LEE_U»"JIIUELE?«J_.
(A) Axons 11 (B) Dendrites (1%} (C) Synapses ,#0L (D) Myelin sheath s/
7. How many bones make our Skull? ' U JJ’-‘UL%L?’ L):Lff;'){dih T
(A) 22 (B) 14 (C) 26 (D) 24
8. After fertilization in plants, the fruit develops from. _Q.'QJ{MQ[;)%:FUJ)JQM;; 8
(A) Ovule wall LJ'{'_JJJ{{!H (B) Ovary wall c:_.,rlg.rprdml,
(C) Petals < H% (D) Anther = A%
9. Inside testes, the sperms are produced. -Lﬁif/:fﬁfﬁ;f’f 9
(A) Vas deferens u‘" 23U (B) Sperm duct :f@r‘/._:'
(C) Seminiferous tubule Jyst S5~ (D) Collecting ducts u‘:fi.ﬁ.“
10. Which organism has a short but fast life cycle by Mendal? Tl ;@laf,;.fffﬁv-.ﬂﬂ%fﬁwif sl Jike 10
(A) Ginger ol (B) Pea (C) Onion Jl (D) Tulip
11. The types of inheritable variations are: -L,"rrrL—’"iJ.:.—!/_:i’.CfEu: 1
(A) 2 (B) 3 (C) 4 (D) 5
12. ltis a perfect cycle in the sense that is returned to JVKV&&ﬁ;erxr%fv&Q{th
atmosphere as soon as it is removed. «%Jﬂ@fﬂ(ﬁﬁghlyd@
(A) Carbon cycle fb-c,ﬂ.fE’ (B) Nitrogen cycle J?? LY
(C) Water cycle f‘w)i; (D) Oxygen cycle J? Lq_-ﬁ*'?
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S5.5.C - (Part-II) -A-2015

Roll No.

r’_/':f:.ﬁ.f:’.risgj

Sessions;2012-2014 & 2013-2015

BlOlOgy (Essay Type)
»  Marks: 63

Group-II- ..,;:f

Time: 2:45 Hours &£ 2:45:.20
Section-I 2x16=32

2~ Write short answers of any Six part from the following. 2x6=12

i. What are vocal cards? What is their function?

ii. What are Alveoli? Write their function.
i. What is Amphysema? Write its symptoms.

f

(New Course;New Scheme)

SubjectCode| 5 |0 | 4 | 6

(20

=l

63:

gpiu? ,
> @Uﬁﬁiﬁdj?fi:;df:,gf‘fjbﬂ
“LJJJL-(E(UI?JU/MKLFJ

éé?/d”ﬁurwa Suly ki
ch..»l.ﬂ;Jul*‘;.u’ L

-2

Ji
i

iv. How plants remove carbon dioxide from their bodies? ?L,{;E_/ Zwlpcf eriduu;is’.-:_.fufc_fgﬂ v
v. What is difference between renal corpuscle and rena! tubuic’ “;-__LJ/LJ’JLJ;*;*J’;;;Q,H;E’JJ WV

vi. What is kidney failure and how it can be treated? '?'.:.Cglplfdj Z,U:Ku’u:!r_ U’Lw(,&.;/ Vi

vii. What are stimuli? Give its one example. _é JLJJJJW lfdﬂfi' Vil

viii. Define receptors and give two examples. ,J :u‘J Crassnl & J}’J;/ Viii

xi. Differentiate between central nervous system and peripheral nervous system. éﬂ lzu/u'(‘/ JvJ/ﬂ,@.ur('/ Jsxdf“ X

3= Write short answers of any five part from the foliowing . 2x5=10 iu?ﬁ L 171 6L.:..df.r:,utd‘; i3 =3

i. What is cartilage? J’Lﬁ( K i

ii. State appendicular skeleton. Uk -/fd.ur i
ii. What are tendons and ligamens? Vu‘Lrbfu“é;:IfH i
iv. What is Oogenesis? Se Ul v
v. State fertilization. -qf/u 205 v

vi. Define law of segregation. _L,jf._yj"J- "J-ﬁb..-’ e Vi

vii. What is incomplete dominance? “::.U/u‘z"’v-:d"( b .vii

viii. What are advantages of artificial selection? "wbﬁlh’.ﬁsbgfﬁ’ Viii

4- Write short answers of any five part from the following . 2x5=10 &Uuuf/‘{fipf!l CL.:,J:C:..JJ:E;JJ -4

i. Define ecosystem and name its two components. .:"?‘t.ﬂ!ffuﬁ.uul&zﬂjgf-rf ¥
ii. Write names of two main decomposers. How they work? = Jf,.m] )’Ejiﬁ’g Lr‘_':mrfd.u.ﬁ_xu i
- iii. Define mutalism and give its two examples. _ﬁ;u‘!lfﬂmlc”{._ﬂjgpkf il

iv. Define biotechnology and also give its two uses. &Ufuﬂlﬂf!;:;:léwfgfﬁ L .iv

v. What is meant by sterlization of materials and pure culture? -i.J /Lf;,/K u"Jb,ulL/fu /J /" N

vi. Write the function of enzyme urakinase. From which type L(’Jicﬂ’?ﬁ’ﬁ’fﬁﬁ;f(ﬂ Vi

of microbes it is obtained? s chlr'.q':_—r/j**/[:L

vii. Write down names of two drugs obtained from animals. cfgrLJ:uflum:fJ‘ b Usdle Vi

viii. How does vaccine work? Describe briefly. _@.I.q,/“{‘ad/?b’d:uff Viii

Section -1II 93 >
Note: Answer any three questions from the following. 7x3=21 _J/fff._«l.lfﬁ g{jﬂlr* ui'.:,d:(;:, uﬂJ’JL.u W2y

5. (a) Write a detailed note on lung cancer. 04 J‘“‘x -Lu:/“” () .5
(b) Explain kidney transplant. 03 S el § (L)

6. (a) Describe the functions of co-ordinators and effectors. . 04 Sl j ;L:,c::j,uuf.(‘..nﬂ) .6
(b) Explain the main components of the Axial 03 Usoe 4L (= ﬁ/? ff-quJL(a,.s)
skeleton of human. -:J/LJ'LHU(

7. (a) Write a note on reproductive system of a male rabbit. 04 u:"{,'ﬂf("’ /,u;djiwf?x_(._ﬁf) Vi
(b) What is alternation of generation? Draw its diagram. 03 il LJJJI*“»_;/U::_.UJ/?_JTJ”/I

. 8. (a) Define co-dominance. Explain ABO blood group system. 04 quJL#JL,(f‘/u.«J/CLABO-u“ Lo AU .8
(b) Define commensalism and give its two examples. 03 -JJUHL‘:&.:JJU:Uf..ﬂer}’u"f(u)

9. (a) Write down the types of fermentation. 04 ..u‘szf i, u"&"’,".(uﬂ) 9
(b) Describe the problems related to addicted persons. 03 u’/ubd’ LA ISl e (L)
Section -III (Practical) (J‘f )(y
NOTE: Answer any two parts from A,B and C. 5%x2=10 S fn_:UFZ.fffh:-:‘_-dfc_.gﬁ Gl il d

10.(A) (i).Write the procedure for the experiment to show 03 (Bebtumdl bdbela sl i T (x} (.10

that exhailed air contains carbon dioxide uu:"{?ﬂ)b’[ﬂb( f_?ls’gfﬁff
(if).Describe the change in colour of lime water when it 02 L&L#Lf[duu)gdiugﬁ-fw? {n)
combines with carbondioxide. Which compound is Vet TS Y AL 17
produced as a resull of this change? e L—uuLf

(B) (i).Draw a diagram of mustard flower and label its 03 Jf.{:bru;!kj‘f* fJ ;ﬂ’"{f_ur/ (i) =()
any four parts. 5@»"5&:;
(i).How many stamens are there in the mustard flower? 02 u"f_f?u*,;_yr/? yv’.,_f_ r/ (i)
Write structure of a stamen. J

(C) (i).Write down the procedure for the exeriment that 03 u"d{.nl}’b’,.fuir_d:/‘du':rﬁdfﬂ (i) -(D)

water is essential for the germination of seed.
(ii).Define germination. What is the optimum temperature 02

for germination.
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* * S8.8.C - (Pari-II)-A- 2015

RollNo._______________ /winel | (New course;Old scheme) PaperCode | 3 | 4 | 6 | 4
Session;2011-2013
= BiOlOgy (Objective Type) Group-II- ..._,.r:f (5% ) u:‘.a‘l?.l:?
Marks: 12 Time: 15 Minutes 22155 127

/_Uiﬂﬂ{(é b’{_}lﬁru.‘f""-c.f.:.!?‘fff..__;‘ﬂ u’?rL,_h’ {'d:{;.-.! DJJ’,C,B,A&MK,-‘-GJE?L Jiv @q;(é_ﬂ}lﬁ (f’;/"&?j:_;[_,lﬁcf.p Uffrb?:d'--;
S e S SF NS P 552 S s LD | CBe A 7L

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

P

2.

10.

11.

2,

Which is antiviral protein out of these. HQfLFJEJwa;{J}I;@!;L;:yI i
(A) Urokinase ¥  (B) Thymosin £  (C) Interferons %52 (D) Insulin 2!

Aspirin belongs to the group: _%Lf,ffgu;ﬁr 2
(A) Drugs from plants ¢y:Jra;fJ’b¢u:Jg (B) Drugs from animals :.f,l,qu/U"Lp:.. um‘t_p

(C) Drugs from minerals ak::fnjxr[)’ba.;gm (D) Synthetic drugs :.-vL«ulLfft'

The amount of CO,in exhaled air during breathing is: ;.J-.-?‘;-(EJ‘FJ’;@‘L;Cozu:fﬁdijé_aﬂfwl;ﬂywbﬂify 3
(A) 16% (B) 4% ° (C) 70% (D) 0.04%

Maintenance of equilibrium in the amounts of water,minerals, -.?.tlﬁ;ctﬂujjlﬁﬁﬁﬁjﬁg}:fagrf,;;::aﬁ&& 4

temperature and glucose in the body is called.

(A) Excretion J?—'/C'gl (B) Homeostasis J‘f}m (C) Reabscrptiunu%'z:l (b~ (D) Tubular secretion c)%?)::ﬁ

Gulucagon is produced in: qiﬂi‘_.{j:fl,}.gu)fb/_!f 5
(A) Hypothalamus 4% .{_‘;":EI; (B) Pituatary gland ;_,tj:ﬁj’)é
(C) Liver J/{Z (D) Pancreas ufj_l:/[';.r
An important function performed by the ear other than hearing is: - L?"I/-*J‘:’(T_iﬁl_ﬂ{('?ufnlkﬁa’:’f' 6
(A) Harmone secretion ¢ sl (B) Balance of body wink¢~
(C) Reduction of pressure on newesfdﬁ.;{}:} (D) Enzyme secretion t::[ff;e':l'
Our head skull has bones. _L,EJJTLJLJ:;L}:L_S%J;L{;?.-JL‘I i
(A) 14 - (B) 24 (C) 22 (D) 26
. Rhizopus reproduces itself by. ..;—:_t):;)g;;,ﬁ,rﬁs;{h 8
(A) Spore formation /sy (B) Binary fission c:.cfjdfl_.
(C) Budding < f4 (D) Endospore sl
A part of female reproductive system receives egg-cells from ovary. _.f‘;.t'/dﬁf}lfvﬁ‘:,dmr,:m_gh’f“ ;ng.;ﬁm 9
(A) Uterus /9 (B) Vagina l»
(C) Fallopian tube . ok (D) Cenvix sy
A genotype which has two different alleles for a Hoad L #ﬂ’:._}.juiu’?.._fﬂﬁ-’&i .10
character is called: -.-rt"_allfr:u.ﬁ}.ﬁ!"
(A) Heterozygous J"c”-};/f;? (B) Homozygous u’g?}:":
(C) Homologous e (D) Haemezygous ugi;u:'
We eat chicken, so our trophic level is: _.:;.ttrdﬁ_ﬁﬁf;h?ufi.wﬁffﬁfﬁ 11
(A) Primary consumer /g}"/d/ff.-.; (B) Secondry consumer _r'g}"'/d;ﬁ?
(C) Producer 43/ (D) De-composer .;J,v,_.fd;
A- biotic part of the ecosystem is: ..;I;JSZJEL;FK(‘L/;I 12

(A) Producers Js43s7  (B) Herbivores s, (C) Carnivores K (3) Oxygen ff?'

145-010-A-YX 3¢



U.5.C - (Part-IT) -A-2015

Roll No.

. BiOlogy (Essay Type)

Marks: 48

e Jps# ! (New course;Old scheme)

Session;2011-2013
Group-II- I.f;/

Subject Code| 3 | 4 6

=l

L

Time: 1:45 Hours & 1:45:3 48:

Section-I

i. Differentiate between inhalation and exhalation.

ii. State the function of Epiglottis?

—

.. Write down the path of air from nasal cavity to alveoli?

iv. What is meant by Guttation?

v. What are Hydrophytes? Give an example.

vi. What are effectors? Give an example.

vii. What is crebro spinal fluid?

viii. What is blood glucose concentration test?

3- Write short answers of any five parts from the following.

.. What is certilage? Write names of two types of cartllage.

ii. Differentiate between origin and insertion.

i

I. What is fragmentation?

iv. What is Osteoporosis? Write its two causes.

v. Define double fertilization.

vi. Differentiate between genotype and phenotype.

v

4- Write short answers of any five parts from the following.

" i. Define species.

ii. What are biotic components?

fii. What is meant by human genome project?

iv. What are transgenic plants?

v. Define vaccine?

vi. Which vaccine is effective for a short time?

v

Note: Answer any two questions from the fol lowing.

i. Define Antibiotics.

Section -II

9. (a) Write a short note on Helophytes.

(b) Write a note on reflex action.

6. (a) Write in detail the female reproductive system of rabbit.

(b) Write down the structure of DNA.

7. (a) What are the effects of air pollution?

(b) Describe the objectives of genetic engineering.

2x15=30

2-Write short answers of any five parts from the following.

2x5=10

2x5=10

9x2=18

04
05
05
04
05
04 |
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Roll No.

S.5.C - (Part-11) -A-2016

e Sl P a! PaperCode| 7 | 4 | 6 | 5

Sessions;2012-2014,2013-2015 & 2014-2016
Biology (objective Type) Group-I- _»./

Marks: 12

* L
B <L
Time: 15 Minutes 415 <3s 12: 4
/"U':‘JUOEUL?« e B{ (2 sz:."_.-JDJJ 1,C,B AutffjjlaéidfrﬂﬁgjdKJIPUJ)?’U{E:._JUJ’LHIJW('U Ly
-wﬁ:..m,.—(fu*tf W sh3Ee SHED | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1#. Genes consist of: ~Silre 2 141

(A) RNA (B) mRNA (C) Protein Fiy (D) DNA

_..;;.:J?Jfl,gibf(‘u,'gf 2

(D) Carnivores smK

2. Abiotic component of the ecosystem is:

(B) Herbivores sl (C) Oxygen u’"'f T
et LS AL s fi 3
(D) Thymosin oo

RO L i S 4

Antibiotics %15 (D) Sedatives

(A) Producers Jyisz
3. The Enzyme used to dissolve blood clots is;

(A) Urokinase %64  (B) Insulin s (C) Lipase (U
4. The drugs used to reduce pain are known as:

(A) Analgesics u’cfd’i (B) Antiseptics u‘%&if (C)

bk b
s

9. Where does gaseous exchange occur in human?
(A) Pharynx u’i-.’
6. Example of Hydrophyte plants is;
b %
(A) Water lily Js (B) Cactus u—ﬂ
7. The myelin Sheath is formed by:

(B) Trachea L/

(A) Nodes of Ranvier 2/ ,3Ti34
(C) Dendrites u"lu:;i

8. What do some bones produce?
(A) Mucus Jg:‘

9. Pairs of spinal nerves are:

(B) Hormones v+l

(C)

(C)

(B)
(D)

(C)

?,;_t*ﬁutgfhpb’urzr’u!uji,ir 5

(D) Alveoli (uysb
,.f._JLaJumf

Sea grass JJJ}H (D) Grass o
e dnG et T

Bronchi JKF.:;:
lu,uvl( 6

Axons 1)
Schwann cells Xl
S dLULLE 8
(D) Blood cells 4k
_gtlne szl 9

Oxygen LFJ'T

(A) 31 (B) 12 (C) 21 (D) 13
10. Example of Rhizome stem is: ..;:_JII'?L{E.(JJJM 10
(A) Ginger ! (B) Potato #7 (C) Onion Jk (D) Garlic u'*”‘
11. Diploid (2N) is: - (2N)¥is 11
5 (A) Egg cell J‘-Ufl (B) Sperm cell J-fr/g (C) Zygote gy (D) Endosperm p;‘:,q:i

12. An organism has two different allels for a single
trait, its genotype is:
(A) Homozygous tf“ﬁhs"ﬁ
(C) Homologous J':Jrﬁ

(B)
(D)

sy KB Lo LMoLl 12
Srestszsio
Heterozygous J‘%J:ﬁ
Hemizygous u’gi;d:
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S.8.C - (Part-11) -A-2016

Subject Code

soh =l

RollNo. e Syl

Sessions:2012-2014,2013-2015 & 2014-2016
BiOlogy (Essay Type) Group-I- n.;«:;
Marks: 63 Time: 2:45 Hours & 2:45:=3;

Section-1 2x16=32
2- Write short answers of any six part from the following.

i. Differentiate between inspiration and expiration.
. What is amphysema? Write its symptoms. -
. How does respiratory centre control the breathing centre?

ii

i

Section -1I

Note: Answer any three questions from the following. 7x3=21
5. (a) How does the tobacco smoke damage the respiratory system?

(b) How plants remove extra water?
6. (a) Explain mid brain and hind brain.
‘“\I (b) Define skeleton. Describe Appendicular skeleton.
T (a) Write a note on germination of seed.
(b) What is meant by tissue culture and cloning? Explain.
8. (a) Explain that variations lead to evolution,
{b) Define green house effect, what is global warming?
Write its effects.
9. (a) Define genetic engineering. Write its important objectives.

(b) Write a short note on sedative and Narcotics.

: Section -III (Practical)
NOTE: Answer any two parts from A,B and C.
10.(A) (i).Investigate the breathing rate at rest and after excercise.
(ii). Define inspiration.
(B) (i).Draw and label the diagram of bone.
(ii).Define the cartilage.
(C) (i).Draw and label the diagram of Rhizome.
(ii).Define the term asexual reproduction.

34-010-A-

2x6=12

5x2=

ﬁﬂdil,b ’
-2 L7 e (e S S
SO oad”'"(’-ulw%d"’;
-u-‘f’gc-—"ﬂf_tﬂ.f"?r;—gbwqi
e S PSS VAT P 0
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iv. Describe the structure of renal corpuscle? i _L,_{/u,rg..—_-:‘»wfdd;ls’&; v
eV Write the reasons of Kidney stone formation and its symptoms? uu:.’U:.aLUu_a!:.fM;Jdﬁ;‘_{:fuu)ﬁ V
vi. What are hydrophytes? Give an example. IS LIS U B AL i
vii. Differentiate between nervous co-ordination and chemical co-ordination? ?L):/ugu")ufu)%'d bffﬁﬂu}:’ﬁﬁﬁfw} Vi
viii. Define "Reflex Action" and "Reflex Arc"? g ‘Lﬂ?‘,/@:,’;,l”- =L | uj“"_, Vi
xi. Write two functions of oxytocin? ..u.:"gl;ﬂuf.of#'ﬁl‘ JdX
3- Write short answers of any five part from the following.  2x5=10 _.f_’gaylﬂﬁyﬁplzi él;adfaddi@u -3
i. What is meant by movement? Describe its types. _éﬁg@rﬁl&u!‘.‘%;yl{”cﬂqf i
ii. Differentiate between cartilage and bone. _@yﬁﬁddégﬁlﬁf i
ii. What is meant by Joint? Write the names of its two types. i.ﬁgtﬁr‘ﬁfquﬂg_zyg‘L&’fﬁ il
iv. Differentiate between self pollination and cross pollination. _Eigjjui ﬁ'&gw@ﬁl}gw AV
v. Differentiate between hypogeal and epigeal germination. 4.4’“?:)9&,5&0%:2&?@”!&} ’-'-;ﬂ A
vi. Define genotype and phenofype. _é&yh@fd;itﬂmglrﬁ Vi
vii. Enlist the nitrogenous bases present in DNA double helix. _ﬁ%téﬁ(ﬁ:ﬁté_lji.@.ﬁ__&d u’WJkCDNA Vil
viii. Define arlificial selection. Which scientist introduced this term? ?Jls/_ij':»i_.uiﬁbfb Yool — r),L::._éJfJEI:?_,LFf‘“‘ Vi
4- Write short answers of any fiye part from the following.  2x5=10 _Hﬁ’g;_,.i,lﬁﬁ?‘f.f[;ﬂ ék;é;&uﬁd}@;: -4
i. Differentiate between autotrophs and Heterotrophs with an example. H,é( 6 e JErLI0 ju:'uﬂ ¥ /,g;,,,w:’j 297
ii. What are Actoparasites? Give examples. ) -_é'ig‘ujt‘??ugl;@j’fw,{;:ff i
iii. Define food chain and give an example. U sl S A8 i
iv. What is fermenter? Which two methods are used in fermentation in fermanter? ‘< [jl.g(f:_.u;é’)uu}'/ u%’%‘j:u’.' ﬁ“‘/"'q__.ij-f"'} AV
v. How genetic engineering is helpful for the better environment? ?:;_,GJ;A.'P_'}J/ dftb}’;/ g3 ﬁ-5 12 v
Give an example. -U:—’JL';"H{'
vi. What are the products of the two types of carbohydrates fermentation? ?LgLﬁl_fg_ffiLr__,L S C,/[’uufu”:.rﬁ_-?lrsiﬁ Vi
vii. Write down the names of major techinque in Biotechnology. -.ff?'tﬁ-@?dﬂb(&ﬂtﬁﬂ Vi
viii. What is meant by drug? Write names of its two types. -c_‘f?'tﬁrﬁf::ﬁ?%:ygaﬁi viil

-L)"_/;f-:aUﬂ.ﬁ.:aﬂfr j::-é:(:_ Lﬂd’_ib}: Y

04 e tUENSF Tk N TIPH () 5
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04 et 2 e 4 ( ) 6
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03 e B I S St ()
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04 _:ﬁ‘UHEAr?IZ:JIT{_JVgLJﬁ?;u@iJI) 9
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i:{ ** * S.8.C - (Par!-1I)-A- 2016

RollNo.______ /it PaperCode| 7 | 4 | 6 | 8
Sessions;2012-2014,2013-2015 & 2014-2016

BiO]Ogy (Objective Type) ~ Group-II- ..._:_.df ((f.’s/"' ) - :?

Marks: 12 Time: 15 Minutes 2415 &3 12:/

A 38012 eon Tz et £ E3D s, C B A2 L iy :_ﬂ‘qrd K@rﬁu"s/vdfdmyﬁé_-,u:rrﬁu.-ﬂ
o | U LS 3 s LD | CBr A szl L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

1.1.. Sperms are produced in mammals. | _ugi.ﬁfg;r,(uﬁr“: 1.1
(A) Epididimys 43 (B) Vasdeferens (24
(C) Prostate glands }i'-:,f._*..fjtﬁ{ ' (D) Seminiferous tubules /".ﬁ.rfg,f):'d:
2. True breeding means : BN S S YRV .
(A) Homozygous u’f’?jﬁr (B) Heterozygous Jg;ijjﬁ
(C) Karyotype ..t.fL‘;f;,’, (D) Phenotype ..._:_.—'"'lfr.‘f
3. Chromatin material is made up of: _;;_.t'ﬂb:J“ﬁJL:/ 3
(A) DNA oI5 (B) Protein L-Jf::.; (C) RNA < I-¢/I-,T (D) DNA and protien UEJ{J.!L‘_-LL;'{‘LLSE
4. Which of the following is the abiotic part of ecosystem? ?‘L.Q:G:f_ffga.fﬁf‘/:giuﬁc-ddj@ﬂ 4
(A) Grass Ut/ (B) Goat (f (€) Lion / (D) Soil
5. The human genome project ws started in: ,gf[_,"{,,}.*,g*r,;rr‘fu’:;: D
{A} U~ #1980 A.D. (B) U~ #1991 A.D. (C) o~ #1992 A.D. (D) U~ +1993 A.D.
6 . Study of composition and medical applications of drugs is called: _u[f":i}fﬂ'iaff.auﬁ"fﬁﬂ;é v&:ym .6
(A) Mycology (/¥ (B) Biotechnology (J.#tE¥L (C) Pharmacology S.46 (D) Physiology G4/
7. Percentage of CO, in exhaled air is: _i;;IJEﬂAéJELfT@Iiu,x.ab’g,ibfdf:é_ﬁql_m:.u:;gﬁ 7
(A) 02 (B) 04 (C) 06 (D) 08
8. In average a mature person excretes a volume of urine____litre. _r;_.ﬂ_f’-,ﬁ'_, @Lh&_,}l}uda@uﬁiﬂl .8
(A) 4.0 - (B) 2.5 (C) 2.0 (D) 1.4
9. Spinal cord is the continuation of: | H%Jﬁbﬁﬁ’rf} 9
(A) Medula Obinngata“ ELafik:foéf (B) Frontal lobe K.._.a:Uf). )
(C) Thalamus Ku’)"}( (D) Hypothalamus KU~ #1
10. Rods and cones are present on: _u_:mr:?ﬁjuju 10
EA} Sclera .;f;l{' (B) Cornea .;Lf;f (C) Blind spot ,_i;«.f.—._-t-fﬂﬂ,- (D) Retina sk |
14 Wk}en uric acid accumulates in the joints, then the disease will be: - &ﬁdxl:j?é..?ﬁiﬁdf.-ﬁxu’:w}}?_ﬁ 11
(A) Gout L3¢ (B) Rheumatoid arthritis 1474 Ly,
(C) Osteoporosis u"/u;_",-;i":i (D) Osteo arthritis ui"i/;lfxi":'

12. Usually which part of the embryo in the seed gives rise to plant root? ?q_Jﬂid{,:ﬂ'c;ﬂ-ﬂ?JQ:{‘ /ﬂu’:y‘ﬁﬁ”}{»"flp A2
(A) Cotyledon ;;JJ,{'JE:’ (B) Plumule a4 (C) Radicle ﬁ.{u (D) Testa &<

35-010-A- 3 W W W



S.8.C - (Part-II) -A-2016

RollNo.__ A ST P SubjectCode| 5 (0] 4 | 6
s;,2012-2014,2013-2015 & 2014-2016 Siit o
BlOlogy (Essay Typesessmn el G?‘EUS-IZI- ..;.d/F ft:.'j) i-':-'k" !:’
Marks: 63 Time: 2:45 Hours &4 2:45:=5% 63: 74
Section-I 2x16=32 ' Lgd,'?',.:’a?
2- Write short answers of any Six part from the following. 2x6=12 aglﬁﬁﬁffylm’a.df;dd;&n -2
i. Define cellular respiration. !J/IJJJUJ)'L’ A
ii. Write the uses of nicotin in the past. c& e A i
iii. What is bronchiole? g L JF i
iv. Define homeostasis. ‘ -n-ﬂfTJ/}}"r v
v. Why does transpiration not occur at night? “dru“ u:f u’ =7 L.J!;_.J:Lub A
vi. Define guttation. H.f:_ﬁ/{fu“’( Vi
- Vil. What is meant by tissue rejeclion? v,_ 3 /L.C:_u-ﬁ,f! Vii

viii. Define co-ordination. -u"/(--ﬂ‘/}dfuw Vi

xi. What is a saltatory impulse? _wqfiﬁdﬁu X

3- Write short answers of any five part from the following . 2x5=10 _ﬁgaglfﬁyﬁpfﬂ ﬂﬁz-dfc;uﬁJﬁﬁzﬂ -3

I. Differentiate between antagonists and antagonism. —ubu,f’u‘r f»f.ufu’ ,f Gl i
ii. Define cartilage and write names of its types. ;-f’g Lf.rLJIJJUJF b-ﬂﬂf ws’ i
iii. Differentiate between hinge joints and ball and socket joints. -ubu}JJ"'J kafdtzslflﬁ{: il
iv. Differentiate between asexual and sexual reproduction. YLD AL "ﬁﬂb‘ﬂ/ Jdv
v. Define pollination.Give two examples of air pollinated flowers. -é]u‘JquJu:'ﬁLh#_/u’“d:’-:‘i-x,d:ff- égf-ﬂf’t.;fds’ v

vi. Define translation and transcription. ,éfui,_ﬁ/[_fu'}ﬁlﬂ;ru"bﬁ Vi

vii. What is meant by nucleosomes? *'r_,.:/lff:_/frgr Vi

viii. Differentiate between genes and loci, wul.auf'u‘ds” sl g2 il

4- Write short answers of any five part from the following . 2x5=10 d’g...fLL?/“;di;fﬂ 6L¢-L3:Q”-U'JJ@JJ -4

i. What are ecological pyramids? w,;..rm,m&;f W
ii. Write two disadvantages of deforestation? _u*’uLw::Zdl,(JuﬁJ i

iii. How is smog formed? Write its two disadvantages. _ u:."o’_.-Ll.aﬂuﬁfff’.—:._u’a{.ff Al

iv. Define alcoholic fermentation and give its one use. L LJWIJJJIJ/J/’JW:&.@G AV

v. Give two achievements of genetic engineering. _J/ubuwa_pls’mﬁ._f/"{l_@ v

vi. How single-cell proteins help in controlling pollution? “u.:_J:.;Jd,JJH!E,}U'Ku‘uJ”J’ Vi

vii. What are synthetic drugs? Give an example. _JJLJLHJ‘U"I,LL:H&& Vil

viii. What are narcotics? Give an example. _MJJL’-{?U:E{U’(}?L Viii

Section -II 33 o>

Note: Answer any three questions from the following. 7x3=21 _J/rf.....«[.lfa'iuﬂl ufc.(}f:.-u*d.w WLy

3. (a) Explain lung cancer, 04 fi&l,a:d//{é:u: 2 () .5
(b) Define dialysis. Explain haemodialysis. 03 i f S L-o:J/JLH*f 4 J,-’LC"’LL:-(H)

6. (a) Describe the structure and function of external human ear. 04 é:,ﬁl/d’.’uf_ﬁbb(ub’d:;d:uw () .6
(b) Write the role of biceps and triceps in movement of arm. 03 RN e e 10~ I8 ()

7. (a) Describe the process of spermatogenesis. 04 - fubfdfé:u*jr“fu(df) 4
(b) Explain necessary conditions for seed germination. 03 _(fSwo LHJ(LJF/)H o Sss 28 :C:u""?JC-(u)

8. (a) Explain Watson-Crick model of DNA. 04 S eSS K DNAL(L) .8
(b) Define producers, consumers and decomposers 03 _.J;JL-';JU/J“J/’JJ;JJLSMU/J/,y:f.w_(u)
and give examples .

9 %a} Explain Alcoholic and lactic acid fermentation., 04 _4;;& ﬁklﬂ;-i.ﬁg () .9
(b) Describe the mode of action of vaccines. 03 Lr*d/kb’ﬁ_.)?s’.{i/‘g:_.(_.«)
Section -III (Practical) (L}f ) v i

NOTE: Answer any two parts from A,B and C. 5x2=10 HLJ‘J’/HLL?LPULU;:,JI:_J C,.uf...m..nll

10.(A) (i).Draw a labelled diagram of internal structure of 03 LI}L}'JJPJ*.#‘E%_JIL/"{ (i) —(). 1ﬂ
sheep's kidney.and write names of three parts. b UrZn!

(if).Write material required to demonstrate the presence 02 ybfﬂjfjwi;(u‘!f e bUyK, Ld_n[_u"v(

of carbondioxide in exhaled air. Sl £ f—-'*( my

(B) (i).You observed the bone of sheep,Draw its 03 _J Lfrerr;ariJJfb@Lﬂ-mﬂJ/"Lu' (i) =(<)
labelled diagram.
(ii).What is meant by antagonistic muscles? 02 “.—:..;[/L— J'J..f(}ff»f (ii)

(C) (i).Write procedure for the fermentation of Milk. 03 ' uﬁ‘%’_ﬂ/‘n:;’_,_f_'br'?‘ﬁw; (i) -(@)
(if).Define autotrophs and heterotrophs. 02 e h__n;/JJJr,;f;;ru’uﬂ (i)
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j:E *** S.8.C . (Part-II) -A-2017 /:"J_’_,;,-

ROH No. e Spima PaperCode| 3 | 4 | 6 | 7
) Session;2015-2017

BlOlOgy (Objective Type) Group-I- ..;:/f (Lf!/” ) t.’:-fg.l:?

Marks: 12 Time: 15 Minutes &415 &3 12/

A 382 e W2 gL E D CB Ah.,u;.,l?.:béidrrfﬂdmmu" /#g&_.,u;eiuuu—rv"
,L/J,Jr_uu{uﬂ/l.f.«f_;r.awc,wum;z:D L C,B Asze L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. From this part of the embryo, shoot is formed; ..r;_[,?"k::':‘::.,ﬁw£g Al 1A
(A) Radicle (4 (B) Plumule Jss (C) Cotyledons #40¢ (D) Hypocotyl Jts¥y
2. In this branch of Biology we study inheritance: _u‘a._f.JB:fK f;,r”u‘@bJIJJ:'LfL ;
~ (A) Genetics Jﬁ'? (B) Ecology &4¢ (C) Physiology (¥l (D) Morphology &.#6l
3. The structure of DNA model was proposed by: YR NE=sL S DNA 3
. (A) Charles Darwin sliut (B) C.de Buffon wHS3
(C) J.de Lamarck LUz (D) Watson and Crick S/ ziers
4. Abiotic component of the ecosystem is: _:‘:.::?._EE'L;_IK(}"/:{! 4
- (A) Producers .ayg_’.h{ (B) Consumers },r'.gj}”/ (C) Decomposers }JJ:;({,S;’ (D) Light ffu
B ,*ﬂ"” antiviral protein is: : Higuﬁ;,__{d}u@uj 5
(A} Interferons 732541 (B) Ligase - (C) Amylase 20l (D) Urokinase 2wy
6. This drug is obtained from plants: ' h.a:—_a%JJ"Lp;u”;;mf .6
) (A) Codeine u,fif (B) Cephalosporins Zuss#~ (C) Sulpha drug WATD (D) Tetracyclinces ﬁfffw}f
7. Most of the gaseous exchange in a leaf occurs through: ey .::_FﬁJJ?aJE}KL})‘fo vz 7
(A) Stomata P (B) Cuticle ;,E‘;f (C) Lenticels /‘ft,lf"‘] (D) General surface ﬁ?b
8. The name of tube between kidney and urinary bladder is: ..:.‘C..rt{dtwyﬂéhg:dﬁ;fﬂlé_;j 8
(A) Nephron s & (B) Ureter /s (C) Renal tubule Jx# o (D) Urethra 14,y
8. Insuline and Glucagon are produced in the: _LgiufKﬁjlﬁ:JF 9
(A) Hypothalamus u"‘f_;""'.rf} (B) Goonads .Lijf ¢
(C) Thyroxin Lz (D) Pancreas Ji./f
10. Apart from hearing ear also perform this major body function: Hﬁ%:rgyd{fﬁg_,{ﬁgb’a;wé& 10
(A) Hormone secretion ’c-,rﬁrb’uwp (B) Body balance u}i?b’r‘)‘
(C) Reduction in nerve pressure o{ffﬁ_{;u (D) all these ['u}
1 ‘l.* The bones in pelvic or hip girdle are: _L,g{,“}:fu_l,éuﬂij.__ﬁ_l,Jx_‘:;- A1
(A) 2 (B) 3 (C) 4 (D) 5
12. These are horizontal underground stems: HL{‘}'-’.’"_-LJTH__:;&%QL*_J:{.J,;; i, b
(A) Tubers .z (B) Rhizomes s (C) Suckers i/~ (D) None U734
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S.5.C - (Part-II) -A-2017

RollN 0 :‘.HEJ.!;JJJJ};’T
Session;2015-2017
Biﬂlﬂgy (Essay Type) Group-I- -..__.r:f
Marks: 48 Time: 1:45 Hours & 1:45:=3
Section-I 2x15=30
2-Write short answers of any five part from the following.  2x5=10
I.. Why larynx is called voice box?
li. Write the symptoms of asthma.
ii. What is guttation?
iv. Abu-Nasr-Al-Farabi is famous for what?
v. Define lithotripsy.
vi. Define reflex action and reflex arc.
vii. What are receptors? Give an example.
viii. What is autonomic nervous system? |
_ 3~ Write short answers of any five part from the following . 2x5=10

i. What is fibrous cartilage? Where is it found?
ii. Give two functions of bones?
-i]i. Write the names of four methods of natural vegetative propagation.
iv. Define fertilization. |
v. Define pollination and write names of its types.
vi. What is Heterozygous Genotype?
vii. Explain continuous variations with examples.
viii. What is meant by translation?
4- Write short answers of any five part from the following.
i. What is meant by 3R?
“ ii. Write biological name of dengue mosquito.
iii. What is meant by genetic engineering?
iv. Describe scope and importance of biotechnology.
v. What is meant by lactic acid fermentation?
vi. What is meant by durg and pharmacautitai drug?
vii. Define analgesis with an example.
viii. Define hallucinogen.

| Section -II
Note: Answer any two questions from the fellowing.
0. (a) Describe the function of kidney. : 05
(b) Write a note on structure of neuron ' 04
6. (a) Explain disorders of skeletal system. | _ 05
(b) Define seed germination and describe conditions 04

necessary for seed germination.
7.7 (a) What is water pollution? Describe its effects and control.
(b) Explain basic steps involved in genelic engineering. - 04
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' Session;2015-2017
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Marks: 12 Time: 15 Minutes &#15 =3 12:/:;

/:UTFJL,_{Q E’db’.rgﬂ.‘f—:.f.u:« Tffiﬁuﬁrﬁiéﬁmﬂi,C,B,A&L«rﬁ}ﬁkép‘lfﬂ #’qgégdfﬁﬁﬂu%ﬁa‘,Lﬁcﬁ:.riilfrt-’-:d.r:'
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question

are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

-

1.1. In these cells, haploid number of chromosome is: _;:-_Jm-: Ltf_fﬂﬁJfrﬂ/(ﬂ}'fur A4
(A) Spermatognium ﬁf;t‘,g: (B) Primary spermatocyte 4wy /L;
(C) Secondary spermatocyte :}’i/;:.‘/,_,'du’.::,c (D) all these r‘L-?:
2. Charles Darwin put a theory. _Ju?,‘édm??i.c)ufiu{wg B
(A) Special creation J.‘.r":{j"yé (B) Natural selection il:c;JJj
(C) Use and disuse of organs JiI/ZulJi16=#1 (D) Mutant by
3.- Example of co-dominance is: _ﬁ-_FJL"P'JJ‘:'-Uﬁf 3
(A) Blood group A hf,-)fi# (B) Blood group B.__;:fﬂ:
- (C) Blood group AB s/t (D) ABO blood group system s 2ABO
4. Example of ectoparasite. _:;_J@J_agvm-:éf I .4
(A) Bacteria ,j,/‘g (B) Mosquitoes /f (C) Virus y~ls (D) Ascaris J/g’:
5. The micro organism used in formic acid is: | ug_r/”’:ﬂx?tﬂljidﬁdb;’lufi&h_ﬂ:" 5
“ (A) Glycerol Js ¥ (B) Aspergillus %1 (C) Bacillous U5 (D) Sacchromyces a5
6. Antibiotics inhibit or Kill. MUt S 6
' (A) Worms 75 (B) Virus :J:;rfh (C) Bacteria ;’1}1; (D) Yeast s&~
7. Here the gaseous exchange occurs in human, _gtﬂJ;PKuyZuZuLJiug 7
(A) Pharynx u’i{ (B) Trachea _l,,r} (C) Bronchi JEJ‘:.:: (D) Alveoli JU,_»{,EI
8. Body balance of water, salts, temperature and glucose is termed as: _%L"u{t,vrc)jI?ufﬁKJf»%:lggligjjraﬁL'Sg .8
(A) Excretion ‘fﬁfi (B) Tubular secretion &/ & s !
(C) Homeostasis L,r’-”jfv‘:f (D) Re-absmrption J’ul:»:!d;
9. This is not a part of hind brain. b Lokl 2. 9
(A) Pones 7| (B) Mudullaoblongata ksl iy 4
(C) Cerebrum ¢z (D) Cerebellum (‘"’;g'
107 The portion of the nervous system that is involuntary in action. ,ﬁ;txdjrfl/{u:f;%lg,ps’ﬁwj 10
(A) Somatic nervous system HJ s oy (B) Motornervous system H'/ Jassy
(C) Autonomic nervous system fi"/wj..ﬁff (D) Sensory nervous system (L'/w)d/'*-”
11. The disorder in which there is an accumulation of uric acid in joints. - bﬂ(‘j"ﬁi_ﬂgu:fjﬁuiu’-wkj” 11
(A) Gout s (B) Rheumatiod Arthritis /21 415kLy.
(C) Osteoporosis J’L;;:;ijl' (D) Osteo Arthritis =215 Tl
12. Pollination is the transfer of pollen grain from: U‘LEHLF:;EJQ{/';‘;){_‘:L’LU&:U{ 12
- . (A) Anther to stigma /&= A (B) Stigma to anther s fle L&
(C) Sapal to petal ,;L)?LJ&"' (D) Petal to sapal ,;L),;’-":,L}’.‘f
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k RUHNO. ____________ :._/;E,J_r'".:h.uf
Session;2015-2017
Biolo 2Y (Essay Type) Group-II- u,__..—:f
Marks: 48 Time: 1:45 Hours g 1:45:=0s
g Section-1 2x15=30

2-Write short answers of any five part from the following.  2x5=10

i. Define cellular respiration.

i. What is trachea? What is the role of "C" shaped rings in it?

iii. Differentiate between transpiration and guttation.

iv. What is meant by tubular secretion in the functioning of kidney.
v. Write down any two major causes of kidney stones.

vi. Differentiate between dendrites and axons.

vii. Write two functions of meninges.

viii. Write the names of two hormones produced by thyroid gland.
3- Write short answers of any five part from the following . 2x5=10
“i. Write two functions of skeletal system.
ii. Define flexor and extensor.
iii. Differentiate between external and internal fertilization.
iv. Write down the names of neceésary conditions for seed germination.
v. Define self pollination.
vi. Explain traits with examples.
vii. What is genotype?

viii, What is incomplete dominance? Give an example.

-4~ Write short answers of any five part from the following.  2x5=10
i. What is biological nitrogen fixation.
~ii. What are epiphytes. |
iii. Define genetic engineering.
iv. What are transgénic organisms.
v. What is the full name of GMO.
vi. Whal are Hallucinogens?
vii. What do you know about marijuana?
viii. Define vaccine.
Section -II
Note: Answer any two questions from the following. 9x2="18
5. (a) Explain the osmoregulatory function of kidney. 05
(b) What is neuron? Explain its structure, 04
6. (a) What are the main components of the Axial skeleton and 05
_ Appendicular skeleton of human?
(b) Compare the insect pollinated and wind pollinated flowers. 04
i (a) Explain Nitrogen cycle in our environment. _ 05
(b) Explain three basic steps in genetic engineering. 04
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D
to each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D

given in front of each question with Marker or pen ink on the answer sheet provided.

1.1. Percentage of oxygen during breathing in inhaled air is: _.—E_L"Em«éuf:f T‘,r.‘!l:fdbi_ﬂfluﬂubu.f_léuj L 1.1
(A) 16 % (B) 21 % (C) 0.04 % (D) 04 %
2. The normal chemical composition of water in urine is: ~‘§—'7¢3/ }de.iU:LJ Jguf.._..-ﬁ";; 2
(A) 9.3 g/L (B) 90 % (C) 95% (D) 94 %
3. Receives and analyzes visual information. -.-i:.t'/,r_,ff E/;:Jbﬂq_l:'/d:“’u'/:fl.:l”d A 3
(A) Frontal lobe s/ (B) Parietal lobe s fiz
(C) Occipital lobe /¥ T (D) Temporal lobe st
4. The middle layer of eye is called: ~ -:;_JWGyJJJfT 4
(A) Choroid X1 (B) Sclera 1£~ (C) Cornea L. (D) Pupil
5. How many bones make our skull? ?L,gug,;(j‘/ ;_,tfd:;ﬂ%;h 5
(A) 14 (B) 22 (C) 24 (D) 26
= 6. Which part of the flower attracts bees and buiterflies? - ?%tfﬂuﬁ;fuf(d’ﬁ,ﬂ qu;f kU< 6
(A) Calyx uj’r (B) Corolla s/ (C) Androecium (3;,5.3! (D) Gynoecium ﬁ%’JB”
7. Pollination is the transfer of pollens from. : -?—tﬁﬁgﬁju'){}y&ﬁu.g T
(A) Anther to Stigma L« (B) Stigma to Anther ; Aie_ L&
(C) Sepal to Petal 4 f¥e & (D) Petal to Sepal s e J¥
8. The specific combination of genes in an individual is known as: _s;.tMJJFd%‘-‘f{fﬁmm.aM 8
(A) Phenotype _Eﬁti.t; I (B) Traits u":} (C) Genotype Fi#% (D) Alleles x-"’I
9. The theory of Natural selection was presented by: WL A dus 9
(A) Buffon (/% (B) Gregor mendel Jirt/
(C) Charles Darwin I3k (D) Lamarck St
10. The utilization of nitrates by organisms is called as: _{_bﬂfr&-}.fJL"ﬁ“rf ( u‘:,#’t)u,ﬁ;}’ts’wwgv 10
(A) Assimitation L-;%‘fx (B) Denitrification  /**§Ft3
' (C) Ammonification Jr?&fr (D) Nitrification =<5t
11. A pain killer chemical produced by brain is: -“:_Jé‘fﬂﬂ,guu&_f_&u Rl
' (A) Beta-endorphin /s It (B) Insulin @2
(C) Thymosin /#1¥ (D) Interferon s/ £l
12. Which one of the following drugs is obtained from plants? ‘e Qe e unginde Jtul 12
(A) Aspirin ¢/ £ (B) Opium s (C) Cephalosporin ¢ (D) Insulin s
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Section-I 2x16=32
2- Write short answers of any six part from the following.

. What is respiratry centre?
ii. What is vocal cord?
li. Write a brief note on the gaseous exchange in plants.
iv. What are Alveoli? Write their function.
v. What is the role of skeletal system in the body?
vi. Differentiate between compact and spongy bones.
vii. What is meant by global warming?
vili. What is acid rain?
xi. What is meant by conservation of nature.
3- Write short answers of any five part from the following .
i. Define osmosis.
ii. Describe the function of urinary bladder.
iii. What is meant by Bowman's Capsule?

- iv. Define cross pollination.

v. Write down the names of two types of fertilization.
vi. What is genetic engineering?

vii. How does lactic acid fermentation take place?

viii. Write down the uses of Ethanol.

4- Write short answers of any five part from the following.
i. Define the terms harmone and endocrine system.
. Alilbn Isa is famous for what ?

-iil. What is difference between Purine and Pyrimidine?
iv: What is meant by homozygous and heterozygous?
v. What are continuous variations? Give an example.
vi. Write a short note on Marijuana.

vii. Which drugs are obtained from animals?

viii. What are Cephalosporines and Tetracyclines?

Section -II

Note: Answer any three questions from the following.
3. (a) What is bronchitis? Explain its types and symptoms.

(b) Explain two methods of dialysis.

6. (a) How does process of hearing take place?
(b) Define cartilage. Describe its different types.

7. (a) Explain the process of gametogenesis in animals.
(b) Describe three methods for natural
vegetlative propagation in plants.

8. (a) Explain the machanism of Evolution "Natural Selection",
(b) What are ecological pyramids? Write names
of its types. Write a note on any one.

9. (a) Describe the use of fermentation in industry.
(b) What problems are faced when resistance is
developed against antibiotics?

Section -III (Practical)
NQTE: Answer any two parts from A,B and C.
" 10.(A) (i).Write down the procedure for demonstration of
the presence of tar in cigarette smoke.,
(ii). Draw the diagram of experimental set up
to detect tar in cigarette smoke.
(B) (i).Write the procedure to investigate the
nature of bone of lamb.
= (ii).Draw a labelled diagram of structure of mammal's bone.
(C) (i).Write down the procedure for the fermentation of flour.

(ii).Differentiate between primary and secondary consumers.

Group-I- '-;"j
Time: 2:45 Hours &( 2:45:253s
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers
AB.C & D to each question are given.Which answer you consider correct, fill the corresponding

circle A,B,C or D given in front of each question with Marker or pen ink on the answer sheet provided.

1.1. Every year in the world, No tobacco day, is celeberated on: -~ FlLE#(NO Tabacco day}a_:‘)g;ﬁJquu:yJ 441

-

(A) & 31 May (B) & 21 May (C) w# 30 June (D) £ 21 June
2. Latex is released by which plant? ?.-‘:.Cﬁ:;.z_.;{_&/ (Latex) d‘"é’ 2
(A) Rubber % (B) Kekar & (C) Mustard Ur/ (D) Lady finger (/#Sis
3. Number of pairs of spinal Nerves in human are: -u_‘?g_.#ﬁlj:}d": l_,«ui’uLJI 3
© (A) 30 (B) 32 (C) 31 (D) 33
4. Pinna (external ear) is made up of. _..?..L*:rl'f.(cj‘{ds,g)lﬂinnalg 4
(A) Bone 4 (B) Muscles + (C) Cartilage é’jbf (D) Fibers .46
5. The movement of an animal as a whole from one place to an LS/»:.,,G‘_#G{;?J:‘?’ K1ik .5
other is called: e bl
* (A) Locomotion Jrﬁ (B) Vibration VL (C) Tropism r':_::l} (D) None u.‘."'Jf
6. Gout is due to accumulation of: .,L,gé_lgﬂ@f’fw uiiIfJf"' U~ (Gout)e 4 £ 6
" (A) Nitric acid A2/¥  (B) Uricacid 420y (C) Formicacid A6 (D) Lactic acid A< ¥
7. The name of disease which is caused due to the deficiency of a hormone is: _f;_rtb’d;hgdlsi,ﬁi.gc_d:fu}rz} g
(A) AIDS k! (B) Gout 3¢ (C) Osteoporosis 744+l (D) Osteoarthritis /1411
8. A cross in which only one trait is studied at a wwwﬂ?‘w..gw;ﬁj.gmu’wfw 8
time, is called: , _.a;-_.lrlk’::’_.Lg
(A) Dihybrid cross  J1/% A#L3 (B) Mono hybrid cross J1/% 4|
(C) Recessive +*(5/ (D) Dominant &%}
9. An important example of incomplete dominance is: _:;_J{f'fﬁf..gJﬁiJih 9
(A) Color of four O clock flower /6L sy ¥, (B) Color of pea plant flower AL sy Ly
.(C) Shape of pea seed LFJ@/.’:}‘ (D) Size of pea plant .'.;"L’EIL_.!{_'Z:-}"
10. The interaction between the members of the same ﬁ;ﬁf@p&l}!éjg&ﬁiﬁ 10
) species is called: _;;:..Jlkr
(A) Interspecific u@;;’}f (B) Intra specific Hﬁﬁrljﬂl (C) Mutualism rﬁ:,:‘ (D) None of these u.‘.'-ﬁfc.ui' O]
11. When does it became possible to cut DNA? -lﬁﬁob_fﬁ‘ﬁ?/DNA e
(A) U~ +1980 A.D. (B) U~ #1990 A.D. (C) -~ #1890 A.D. (D) = #1970 AD.
12. Pathogens contain special protein which is called: _%Jﬂgﬁrgﬁi;uffjgufﬂ?ugf‘:?ﬁf A2
(A) Antigens /Cﬁ*‘f (B) Antibody digdﬁr (C) Serum (D) Gelatin ufuf
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- Marks: 63 Time: 2:45 Hours &5 2:45:=% o 63
Section-I 2x16=32 ‘ngJL.-»
2= Write short answers of any Six part from the following. 2x6=12 Liﬁfd? ta’:.:.d:f:-uid 3w -2
.. Differentiate between cellular respiration and breathing. lru;’nf .ufu’ fuf/‘!l'“ d
ii. What is mucous? Write its function. KJ'?LV’/JJ;‘ i
iii. What are vocal cords? Write their function., ' ng” KLJlT:;; /U/:—u;?f il
_Iv. What is elastic cartilage and where is it found? e dde,gJ:ﬂ'd'-[/gMJ:M v |
v. What are hinge joints? Give an example. -EJJV-H?JWJ“‘PC V '
vi. Differentiate between endoskeleton and exoskeleton. é;zn,[_; ;,_;‘ ,f mlg?i,-l Vi
vii. Write names of any four abiotic components of an ecosystem. rt&:,r!jl._ff L:L,(jfif" %1 .vii
viii. Differentiate between ammonification and nitrification. : ..ul,;_; /’uf Dl d Vil
xi. What is meant by commensalism give an example. _f WLl st e )’U‘;" iX
3- Write short answers of any five part from the following . 2x5=10 cgg...,yry;”i;u l f/Ladfc-LﬁJ i =3
i. What is meant by selective re-absorption? ?;_;;J;,wr:ﬂﬂ@yﬁ”‘ d
ii. Define Osmoregulation. -L)’/._.cf/’Ju’J fxf‘ I
" iiil. Why transpiration does not occur during night? UL s sl i
iv. What is meant by reproduction? T::-Jfbf:-w(mdf AV
v. What is endospore? ?wéfém‘mf V
vi. Write a short note on Alcoholic fermentation. ' _L_)‘/’/f...«:'ﬁffu"'}bﬁ"g Vi
vii. What is Novel protein or minifood? S L LS gt i
- vili. What is plasmid? What is its function? : Se_bwlr E’Bﬁ«f“wqﬁféﬂﬂr Viii
4- Write short answers of any five part from the following . 2x5=10 gg,_,g;/zf[_’,m (//L;chw J‘:Ew -4
.. What is difference between dendrites and axons? “.«:.u,’lfu‘ﬂ/"/ Lalu‘”b_w Jd
ii. What is meant by peripheral nervous system? ' SeslpYe U R s i
iii. Define homologous chromosomes. gfiij’&rﬁfﬁrr i
* iv. What are dominant and recessive alleles? Tq.?d..ﬁgzgfﬁiﬂﬂu&".u dv
v. Define codominance. _ _cﬁ’:..gﬂ/"}f(f"?‘;j v
vi. Define Pharmacology. | _4:9,/"'& 6 i
vii. Define vaccine and vaccination. - a-E,J/JJ S Vi
vili. What are narcotics? | U i
Section -II | (22>
Note: Answer any three questions from the following. Tx3=21 ..u‘f /HLL?LHJJI:-' gfc-(jfc-uf(f SIOP R
<. (a) What is Bronchitis? Explain its types and symptoms. ébuﬁmmru:Juwg_wa&z-ul) 5
(b) Explain xerophytes plants. 03 % ..*?Lonfuu.;'u"m;;.(g)
. (a) Write a note on thyroid gland. 04 -w—‘“ﬁ;ﬁﬁgué&(hﬂo
(b) Describe the functions of ligament and tendons? 03 _J)Ubdw'hf.ui" §lsl ()
¢, (a) Explain the process of gametogenesis in animals. 04 gi(h-al..o:JJf i ;’i’-{;‘ st (D) L7
(b} Describe three natural means of vegetative propagation in plants. 03 ;?( L&l )’L,,t.”é:u"‘-f; :.f:’*i:d.r,»u‘ Uny-()
8. —{a} Explain Mendel's law of segregation with an example. 04 -gfi ALl Jed u"f LTIl S (L) &
(b) What is water pollution? Explain its causes and effects. 03 Jf_;wtfuizwu 3 L)’I*‘.:.Lf qu’ rd L.(...«)
. (a) Describe any four achievements of genetic engineering. 04 ubuLU bxbd:‘z..f /‘f L..EP_(._JI) i
(b) Explain the mode of action of vaccines. 03 g & f:.d)’EL/?‘KdC /‘C ()
- Section -III (Practical) (J’ )
MQOTE: Answer any two parts from A,B and C. 5x2=10 _u‘/" /uLifZ.plfI::a.JfLLﬂ Lossle Wit
T4.(A) (i).Write the procedure of activity to compare the 03 J_,JI,A‘L:JL:JJJ"MLL;JM,;_,J:,J LT {.) (.__,J:) 4
breathing rate at rest and after exercise. U2k )’Ku’
5 *  (ii).Draw the diagram of internal structure of the kidney 02 me«dmr JL.V'Z:-MJ...J.#L«-‘ n)
. with the help of your observation. -u’ b /U3
{8} (i).Write the procedure of observing the changes in shin 03 Z_L;ggu"l"’,_f:jf /*'71{_ y s _AHJJJ-"" (i) ~(<)
= muscles of frog due to contraction. U ;b’.d )’K.J..,J-Lf
{ii).Draw diagrams of binary fission in Amoeba. 02 _, L»Lf’d' u"d/Luf Lt (i)
‘" (i).Write procedure for the fermentation of Milk. 03 ks Al L j‘*"’/d;m i) ~(@)
. (ii).What is pasteurization? 02 T LU o AZL()
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RollNe. s

a3

Paper Code| 3 | 4

Biﬂlﬂgy (Objective Type)
~-Marks: 12 Time: 15 Minutes 2415 =3 12

Sessions;2015-2017 & 2016-2018

&%

Group-I- s/ () @U"?

I

Ay QbR een T2 et L&D CBAMZ L L s 29 (U2 Gelizl e tvrlins s

_u;/a,gLJJLI Ve I se LusED L CBAsze L

NOTE: Write answers to the guestions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1

10.

1.

12,

The amount of sperms in semen is: _:;;JIJ‘JF/JJUI
(A) 10% (B) 50% (C) 80% (D) 90%

Cytosine always pairs with: -;;H(_Hil:ﬁf}.ﬁ‘.f::‘:uf;(jb
(A) Thymine 20 (B) Adenine L (C) Guanine ¥ (D) Uracil Jy

An example of disconlinuous variations is: _:i;_db‘mc.fl/ﬁ._)')'ﬁ‘
(A) Height (B) Blood groups %s/2k  (C) Weight s (D) Intefligence =43

All carnivore animals are: s
(A) Parasite <ALz (B) Host Lour (C) Predator fjys (D) Pathogen (/*#¥
Painkiller chemical produced by brain is: _:T__ubgﬂjjﬂlj.&;%&/“ ;
(A) Insulin ﬂrji (B) Interferon ;;;,/E/*:: (C) Thymosin ¥ (D) Betaendorphin L-Iiuj:ILf'-;

Which drug is obtained from bateria? e Qe dFoet 2y
(A) Aspirin ¢/ 7 (B) Paracetamol Uiz (C) Terramycin < JLlﬁ‘ (D) Streptomycin 2 JL#;{;H
A narrow opening present at the floor of Pharynx is called: _.:;_mf E;br.aﬁ:ﬁ;ﬁ/'é‘_f/"{é
(A) Larynx (B) Nostril Jt (C) Glottis ¥ (D) Trachea L&

The normal core temperature of human body is: _:;;..(j«/;;):.«.flf,;-x:duﬂd';tK@'LJI
(A) 35°C (B) 37°C (C) 39°C (D) 40°C

All of the following are hormones except: ARV 7 1 J: O
(A) Glucagon oo 7] (B) Insulin dgrji (C) Thyroxin (;rJLJLa? (D) Pepsinogen (/=%

Which hormone develops the male secondary sex characters? ".‘z:.i:lzjf-g/:( u'?{j,afcf'}dw}uf
(A) Testosterone ws+= (B) Estrogen s/ (C) Progesteroney: £ (D) Insulin -

The hard outer layer of a bone is called: =SS s
(A) Osteocyte Asis (B) Compactbone wie&’ (C) Cartlage &K (D) Spongy bone iy

An examploe of corm is: oy

(A) Ginger ! (B) Onion (C) Potato #7 (D) Garlic o7

33-010-A- W W W W
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S.8.C - (Part-II) -A-2018

RollNo._____ e St
Sessions;2015-2017 & 2016-2018
? Biology (Essay Type) Group-I- Ip...:-"}/f (,:-’-'lfji) l-':-":!:}
Marks: 48 Time: 1:45 Hours g 1:45:5, 48:/_}
Section-I 2x15=30 Jil o -
2-Write short answers of any five part from the following .  2x5=10 &z B i Ele e Uit stn -2
.. What is difference between larynx and trachea? ?.a;_&}gu:g(}.uvfg N
ii. How smoking effects on circulatory system? : ?ﬁ_tﬂjfg-f;(udﬂ:g/b’wﬁ’:’ i
iii. Define Homeostasis and give an example. _pf:dﬁyﬂxsrq/_éﬂﬁgfu"?fﬁ i
iv. What is difference between latex and mucilage? ‘e O/ UL Gonls® v
v. What is meant by lithotripsy? T.f_:f/'l;ﬂ:_;u‘r’}ﬂ V
vi. What is meant by ganglion? T:;_;yl;r::..c,f[.;@-*" Vi
vii. Define Reflex Action and give an example. _L,f:dl‘:«._ﬁufu:/u.yﬁfuiglu’% Vii
viii. What is difference between sensory nerves and motor nerves? S O /WU isitvas s § 2 i
3- Write short answers of any five part from the following.  2x5=10 ..r_i"g.:.-yﬁﬁyﬁfim é_l;:_.ch_.(_,d*J"iEm -3
i. What is fibrous cartilage? ?ﬁ:.gygaé;b’dﬁﬁ A
i. Differentiate between hinge and ball and socket joint with examples. -J/ /uJL:»:—LJJJ ) VAR Hﬂl’d'ﬂ:‘f F:’-’ i
-iii. Define fragmentation and give an example. ,L{:Jl.f‘f_{wufbyﬁf F 2 i
iv. Define endospores and give an example. HL,f:Jlff._Q;:Fq/_gﬁ&:ﬁ,iﬁl v
- v. What is meant by alternation of generation? ?.ﬂ;_;n,»g‘:.ﬁ;z_.ﬁ’g%% V
.vi. Define translation and transcripation. iqfuyu.éiﬂf J’ﬁ};ﬂﬁ}:’}} Vi
vii. Why did Mendel select pea for his experiment? WUL L Lo feii Jor Vi
viii, What is meant by incomplete dominance? Give an example also. ,q;fdﬁé?%;ygg'ﬂjﬁ Viii
4- Write short answers of any five part from the following.  2x5=10 _eijq:,ygﬁ?[_ﬁ;;z; (’;,'::-{L’/&-u:t.fiﬁxu -4
i. What is Biological nitrogen fixation? ?%-gﬁg&:f’tﬁgf@ A
il. What are carnivorous plants? Give two examples. ) ' _Hé'iuf@:;?ugd"_ﬁl[;;qm&;( i
iii. Describe the role of Biotechnology in the field of environment. qé@g;r}/ S L UL Jpl i
iv. How does lactic acid fermentation occur by bacteria? e Jﬂéxﬁﬁﬂl_@a‘,’,xiégﬁ £\Y
v. What is the use of saccharomyces in fermentation process? ?,.;;_me’s’,w’m?u:dféw%‘fﬁ v
vi. Differentiate between pharmaceutical and addictive drugs. -g’i@y[}/'u::..guwmﬂ_ﬁjf}:mﬁ Vi
vii. Write down the function of sedatives and give an exémple also. _:J_Sd”:dﬁuﬂé;fd’jﬁ'}ﬁ% Vi
viii. Write down the effects of marijuana on body. _eigfafﬁfﬁtlﬁdﬁ{ﬁ Vi
Section -II (22>
Note: Answer any two questions from the following. 9x2=18 -Qéf@gméa UD’JJ&-J:':.".‘.-U:J:EEJJ oy
5. (a) Describe osmoregulatory function of kidney. 05 _éﬁzdgfdﬁfxﬁlﬁ'.—;_.vi(..ﬂl) .5
(b) Write down the disorders of human eye. 04 AL FT3ULL)
- 6. (a) Explain Antagonism in Muscle action selecting biceps and 05 ﬁd’t)”zﬁfgﬁ)ﬁ«fﬁéi}mﬁ&»(JJ!) .6
triceps as example. - *éf_-_»wufr;f Gl
= (b) Give an introduction of Pakistan National Aids control Program. 04 _ﬁ(ﬁ_j;blg’{rfj,;dj/‘-ﬁélﬁzujbﬂ (o)
7. (a) Write notes on global warming and deforestation. 05 _ﬁﬁéﬁ{JUrJaLé%JﬂjﬂjJﬁi(JD e

(b) Which basic steps does a genetic Engineer adopt during the 04 ZURGEL S F kst AL ;:-:"*..(h.__«).

manipulation of genes? ?‘Lt’/‘/
34-010-A-



'iﬁf 5.8.C - (Part-1I) -A-2018

[RGHNG. ________________ o S #a PaperCode| 3 | 4 | 6 | 2
Sessions:2015-2017 & 2016-2018

Biology (obvjective Type) Group-II- s/ & <l

Marks: 12 | Time: 15 Minutes 4415 =3 12:/-2

At Q6312 e Wtz P £2.0Ds,CB AUz L iy cf% K@m‘i/ffdmygiawrru“:..ﬁ

- | S e LSRN I 3e JEus LD L CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker
or pen ink on the answer sheet provided.

-

1.1. The amount of oxygen in expired air is: | _.ci-_,.xui’*JcJ’-{TJIﬁdhé_ﬂﬁub;ﬂL 44
(A) 15% (B) 16% (C) 20% (D) 21%
2. Which plant produces latex? ?;:'..t'/ﬁ/JL;L}"@U{LJf 2
(A) Keekar e (B) Conifer ):':( (C) Rubberplant by§%, (D) Tomato I
3. Which hormone is also called emergency hormone? T-:;-tkfbprﬁq’dfz!«db %Ifwr;guf .3
(A) Adrenaline 2tsdi (B) Insulin o2 (C) Oxytocin w7 (D) Calcitonin eHur
4. Processes that carry nerve impulse away from the cell body are called: q.u_f?i.ﬂp':ugE.Lgi.mz.djydffuﬁsiﬁéém.{gl, 4
. (A) Dendrites ™14} (B) Axons 1 (C) Myelin sheath ﬁfij (D) Synapse u‘:‘féb
.5. Which of the following is the hardest connective tissue? e L e st 5
(A) Cartilage éJJE’ (B) Bone (C) Ligament =8 (D) Tendon wi»
6. The optimum temperature for seed germination is: ic;:.ﬁ;,’f‘%'fiﬁﬁdftf& .6
(A) 10--20°C (B) 20--25°C ~ (C) 25--30°C (D) 30--35°C
7. The example of Rhizome is: | -q_JE’;*Jr:JJIJ 7
(A) Onion i (B) Ginger sl (C) Garlic g+ (D) Potato 7
8. The actual location of gene on chromosome is: _%(EAJ‘IB'&{:!Z.(%’:/ .8
(A) Chromatid %(s./ (B) Locus ¥ (C) Centromere A3/~ (D) Karyotype h.‘.:.-flt.;'/:'/
9. Bred plants are called:; ' -q‘ri.lkﬁLlyJT:/féchﬂa.;;u 9
(A) Cultivars J;I:uﬂ{ (B) Breeds Jis - (C) Carnivore ;::3;5’ (D) Insectivore mu"?;
10. The symbiofic relationship in which both parteners get benefit is: _ng_téru“{sgj)u;uu:u’-fi@u@! 10
(A) Parasitism r;.‘PfoI/:.- (B) Competition ﬁuf (C) Mutualism r';‘fr:‘ (D) Commensalism r'/'l-(u,’}:(
11. Lactic acid fermentation is carried out by many: _:_;ﬁug,g;js'ﬁ%iﬂﬂ <t
(A) Fungi Ju’ (B) Algae u%f (C) Bacteria | & (D) Protozoans ﬁ:ﬁﬁ:{
12. Which drug is obtained from plants? '?r{_. J%Jfbc;_w:,gfudir -
(A) Aspirin J 1 (B) Penicillin L,:L" (C) Cephalosporin s~ (D) Opium L
35-010-A-W |




S.5.C - (Part-1I) -A-2018

RollNo._____________ d—):::J:;J'J.ng
Sessions;2015-2017 & 2016-2018
Biology (essay Type) Group-11- s/ (en <Pl
Marks: 48 Time: 1:45 Hours &£ 1:45:=%
. Section-I 2x15=30 J:L.m
2.Write short answers of any five part from the following . 2x5=10 gﬂuwﬂ’&m CL L.IIJ(LU:JJE;JJ
"i. Define cellular respiration. _ &y /JJJJL.JJ)}*
ii. Why does blood become thick due to smoking? Give reason. éﬁ.x"‘at‘bflwffr@f:.ﬁf
if. Define homeostasis. él...n«’/"J/”"r‘r
iv. Write two symptoms of kidney failure, £U._HL11;::J£_..~’J} [L;_:f
v. What is meant by tubular secretion? Sl e fo N ot
vi. Write the names of the components of cu-ordinatibn process. ﬁ’gr'tciflilcﬁdfé:u’ruu( Vi
vii. What is meant by myelin Sheath? q':"_..}/brx."_.-.rzf"ﬁLfLL Vi
viii. Where is the cerebrospinal fluid found? fe_tbll UL (CSF)¥:s J’,:L,m,,; :
3- Write short answers of any five part from the following . 2x5=10 _é“’gmglﬁﬁ?ﬁfuﬁ:l égcdljf:,u{dj@;:
i. Differetiate between bone and cartilage. aﬁ{u")u" 5%& .
ii. Write the names of three causes of osteoporosis f?"r&u Y:JJJ?;:’#“I :
iii. What is the difference between sexual and Asexual reproduction? “::.ﬂufb-‘/du’g;; JJJ"CL_IJ.!IJJ"C;
iv. Define the technique of tissue culture. iuf.,n/)JﬂJff ]
v.“What is meant by pollination? E::_:/l_fr:;.;,ridg .
vi. What is meant by true breeding? ?%JVHL,V;_.,E':E,:;} :
vii- Define gene and allele. _L,:,aigﬂﬂ}flﬁryf
viii, Differentiate between natural and artificial selection. _u.‘.’{}}u’: bJW;ﬂJ;ﬁ
4- Write short answers of any five part from the following.  2x5=10 .;-jq_..{,ly/ﬂ".{i,;r;l GL;,L});;,L:J,(,”
i. Write the names and define the components of an ecosystem. i S /{uluﬂ?L[_Frﬂﬁf" ,f r
ii. What is smog formation? e t'rb@Jy"
iii. Write four advantages of using fermenters. .,‘_{f_.:rf:ﬂ;’;_lfe."_dbﬂ[_; Voo
iv. What is plasmid? How does it work? ?:;..t'f?géf?pg&:fiii%
v. What is Beta endrophin? ?ﬁ:...sl/i_,;’/c:..c)?uiﬂ;llat
vi. Define Narrow Spectrum antibiotics. _qubbiﬂj"'&rﬁ,;ﬂgir}gj
vii. Name few drugs obtained from animals. ﬁ’?’L.{luL:.siﬁwU" bauuﬁb
viii. What is meant by Social Stigma? "c_.s/lfc_ lf@’J’f
Section -II 33, D>
Note: Answer any two questions from the following. 9x2=18 /':*f Lb”r_'.’.._.rlllﬂ::.(;fa.ufd’:bﬂ <y
5. (a) Describe the role of skin and lungs in homeostasis. 05 Wl ;fKu:/uf;:r;Jva I ()
(b) Describe the structure of human Ear in detail, 04 =20 = J"”L:*Lf uKdLJr_(._.,)
6. (a) Explain the components of human skeleton. 05 _J);.:»!..a;Juﬂ’ﬁ S L g ()
(b) Explain the two methods of Natural vegetative propagation. 04 _Jf_au;Ju:ﬂﬂ)’uf. Sy P 300 ()
7. (a) Write down the effects of Air Pollution. 05 u.:"’i._.,l,rhf.:&)ldfn(...nll)
~ (b) Write down the objectives of Genetic Engineering. 04 uu:/‘;/.kib‘éjﬁ{b@z_(gr;)

36-010-A-
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{.‘,{ S.8.C - (Part-1I) -A-2018

Roll No. S it Paper Code | 7| 4 [6] 1
Session;2014-2016
BlOlOgy (Objective Type) Group-I- ._.«.vf (Lﬁ/’ ) h-':-’g‘l?
Marks. 12 Time: 15 Minutes 215 =2 12'/,2'

Wiz D I,C B, AgLfij;Luf.Jff/d@d ALt [T I gV

S S LS L:'E_.zu,;l:f.::.u"uubf.D | C,B¢A szl
nswers A,B,C & D

N AUt iR eng

NOTE: Write answers to the questions on objective answer sheet provided. Four possible a
! to each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D

given in front of each question with Marker or pen ink on the answer sheel provided.

1.1. Percentage of oxygen in inhaled air during breathing is: ,r;_Jm/éJj{‘!’uﬂﬁdr_ai..rrd"’fuﬁrub.uﬁéflf A4

(A) 21 % (B) 79 % (C) 16 % (D) 0.04 %
2 Tube between kidney and urinary bladder is called: _.a‘;.rtmww&,gl.d,a;g.ur;_;f 2
(A) Urethra sy (B) Nephron s/ (C) Ureter (D) Renal Tubule dxjﬁﬁ;

3. The name of middle layer of human eye is: ...-.;:_rl:s’,.(“&ymfﬁ'

(A) Sclera 1 £ (B) Comea s () Pupil Jx (D) Choroid 1Y
4. Number of components of coordination process is: ﬂr;_;u;LﬁIZILJfLﬁ'd LY 4

“(A) 4 (B) 7 (C) 3 (D) 5
5 Tendons and ligaments are examples of which fissues? “u‘u" LﬁJyUl Lrw Gk 5
(A} Connective ;‘/g'f (B) Nerve i/ (C) Ground k) (D) Epithelial J"{S’:

5. Middle part of Carpel is: e b B
(A) Stigma L& B) Style Ji - (C) Ovary (s (D) Filament &b

7. Fruitis formed from: e 7
(A) Ovary (sl (B) Ovule g2 (C) Endosperm (3% (D) Stigma L
_ﬁ;wafuﬁaf._g#lu;uu:a_:ﬁufu:u’*gtx??&l 8

8. Genotype in which gene pair contains two identical

alleles is called:

(A) Hetrozygous JF Jljs 4 (B) Homozygous f J_rjrﬁ (C) Hemizygous uj Jri(f | (D) Homologous ﬂr‘ﬁ

9. Variations are source of: ..u_‘;&dj@.:.flj? 9

(A) Evolution 6@/ (B) Population K*&"ﬂ (C) Pollution KJ;:’T (D) Artificial selection 3tz

10. Example of endoparasite is: _.r_.dlxd’ WAz x) 10
(A) Mosquito /’f (B) Leech L7 (C) Lices J R (D) Plasmodium (=3
VU PselAdun a1

11. Human insulin gene was transferred into:
(B) Bacteria L/’C (C) Virus Ul (D) Algae OJF

(A) Yeast u~
12. Which of the following addictive drugs is obtained from opium? S L}b&)‘ ey L;.-ddufu’ =Ll I,JJJE,.U 12

(A) Morphine ¢4 (B) Marijuana (124 () Mescaline ”€x (D) Psilocin u’%
‘ 123-010-A-W



S.85.C - (Port-II) -A-2018

R{)IZNU.__ __________________ r_,/:::u':}rj.u_f‘i
Session; 2014-2016
2 o [
Biology (essay Type) Group-I- s/ (LB :..«Lv.lg
Marks: 63 Time: 2:45 Hours &2 2:45:=3 63: 77
Section-I 2x16=32 gAJEf,.h
2- Write short answers of any six part from the followinag. 2x6=12 Llfﬂ’&;lflﬁc.ljfa_uﬂJ;L;: -2
. What is Asthma? Write the causes of Asthma. h..-Lf:J,.»:-c.tff.u N
ii. Write two causes of lung cancer. huJ/éusﬂ i
iii. What is difference between respiration and breathing? f'.*-_u}bfu"u"fmu”/’ il
iv. Define Cartilage and write names of its two kinds. &?’Lﬁrui;:gﬁ;ﬂufbdfg(gb’ v
v. What are ligaments? Describe their function. SISV
vi. What is antagonism? Explain. ol il
vii. Define Ecosystem and write names of its two components. ﬁf'LLPLFUJLJI;:U/_ﬂer‘/fI Vil
viii. What is meant by interaspecific interaction. fﬁ_;/l,f;__,my,@,m 1 Vi
xi. What is predation? Explain with an example. ..th..-?u::.JL-*"‘c,:/Jc,u’,u JiX
3- Write short answers of any five part from the following . 2x5=10 q_‘_“’g LL?/"ZAJ* 6L¢.d;(:_u‘(,}’:t,w -3
i. Define osmoregulation. ---ﬂ’/"tfu%:;fxﬁi R
il. Write two characteristics of hydrophytes. é—g HL»y‘?s:Ju*bJ;;; Al
iii. Write the names of two methods of dialysis. _L):‘_”?'Lﬁuié}’m’:fyj dii
iv. What is meant by alternation of generation? ?L;/er:.ua,?..iﬂf“yi v
v. Define self pollination. cﬁ:/JfdefuP kY
vi. Describe two applications of fermentation. é:ﬂ/_f ”L"‘"IJJLU'P:" Vi
vii. What is meant by isolation of gene of interest? S sl e Bt Kg;f; Vii
- viii. Describe the use of urokinase. Ag‘f:ygjh"‘fb’ﬁlﬁxg Viii
. 4- Write short answers of any five part from the following.  2x5=10 _,gq:,ggﬁ'iﬁ,r;g; é;;d[;bt‘jj@, -4
i. What is meant by colour blind? v;;:yw;#u} K
ii. What is myalin sheath? Fu*l;”_(éd"ﬁULL Ji
" iii. How are nucleosomes formed? ‘it ki i

':'u‘l.fdbu}/.:uf,c” v
?LU/ML}‘ML!“’JJIJL}‘W A
SVl Vi

S BASERAEH i
S 5SS i

iv. What are two sources of variations?

v. What is difference between genotype and phenotype.
vi. What are synthesized drugs?

vii. Define Pharmacy and Pharmacology.
vili. Define drug.

Section -II 03 >
Note: Answer any three questions from the following. 7x3=21 _(Jf T.-.‘ (2= Uy J;JfadJ:b;: 2y
5. (a) Write a comprehensive note on lung cancer. 04 _u.'?gufdbrf/‘-‘-'lﬁu:,d"" () .5
(b) Which methods are adopted by plants for homeostasis? 03 ¢ A_/Lwi&)a,uf&ru’_’?r;:ﬂ_(u)

6. (a) Write names of parts of forebrain and describe function of each part. 04 -qulzrbffﬁf;ﬂu"’ﬁ Ld:u:ﬁﬁu’fu’..(uﬂ) .6
(b) What is a joint? How many types of joints are there? Give examples. 03 -/ ..Lf‘i‘u'ﬁrurué'fﬁ“c.brbﬁfi! ()

7. (a) Describe in detail the spermatogenesis. 04 Hufub:fg}"')fu"ﬂ e () T
(b) Explain the germination of seed. 03 g el S (SEDS T E(L)
8. (a) Explain artificial selection. 04 ..J/._:Lo:u( sl (D .8

03 J./C..J- La.!:.LJJ’L—‘J:JJJJ:IJ./{-»’/’JPL‘?”-(H)
:ﬁﬂ;ffwﬁlﬂﬂfﬁbﬁﬁg

(b) Define Mutualism and explain it with two examples.
9. (a) Write notes on alcoholic fermentation and lactic acid fermentation. 04
(b) Write a note on hallucinogens. 03

() .9
iy i (L)
Section -III (Practical) (J’i )
NCTE: Answer any two parts from A,B and C. 5x2=10 ....«Lb’f.;-iilualjf:.pt Cashedlil s
10.(A) (i).Write down the procedure to find out how much air a person 03 La_ g 15w Iyt tOIEd Uy U (i) (.10
takes into his lungs. £}j K3 P8 £
(it). Draw the diagram for measuring of the inhaled and 02 JIJ’dela;LJﬂdf:L. 7y Fc‘J_.J;A':L;JL' (i)

exhaled air. bl S AL = b

(B) (i).Write procedure to observe contraction in the skin 03 7l L b S+ ol Lor i) -()
muscle of frog. gj?:,,)
(ii).Make a labelled diagram of skeletal muscle of frog. 02 ffbl:&)’)‘}&:fn‘; (u}

(C) (i).Write down procedure for the experiment of fermentation of milk. 03 ﬁj}fd_fcj_ﬁ Vs 393 -(
(ii).What is pasturization. 02 Sl A f‘ .(u)
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* * | S.S.C - (Part-Il)-A- 2018

Roll No. e S | PaperCode | 7 | 4 (6] 4
Session; 2014-2016

Biology (Objective Type) Group-II- s/ & <L

Marks: 12 Time: 15 Minutes 22415 =3 12:/4

/_‘UIFJI{QK@,& ol MJJfT}(:-ﬂ[.!?J"'L,Eif{—J DJ.!I,C,B,A&Uﬁ;ka-ﬁdirﬁ’;ﬁ%q&}fﬁ Lfﬁ/”ﬁfd::fl:lﬁﬁqgﬂlrrﬁidw;
S S S SIS S 30 S s LD L CBe A sz L
i NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers
A.B,C & D to each question are given.Which answer you consider correct, fill the corresponding
X circle A,B,C or D given in front of each question with Marker or pen ink on the answer sheet provided,
1.1. The antiviral protein is: _ﬁ;uf:{hﬂ{?d}l; 1.9
(A) Urokinase Z ¥y (B) Thymosin ## (C) Insulin L-)’Jr-"f (D) Interferon (32 2!
2. The drugs used to inhibit or kill bacteria are called: -LEJMQE,JIJI:L;LE&CJ;:@AJ}E 2
"(A) Analgesics Jﬁfﬁl (B) Antibiotics U151 (C) Sedatives T (D) Vaccines
3. The physical movements associated with gaseous exchange is called: _ugjifaffdwy .L.J;g:ziunf 3

(A) Breathing o (B) Respiration ¢/, (C) Bronchi (s (D) Pharynx %

4. The functional unit of kidney is called: _UEZ,{JIJKI&WJH__})’ 4
(A) Nephron (s # (B) Neoron (s (C) Cortex J‘gb’ (D) Ureter x.¢

5. Main parts of ear are: “SLnZe yL K 5
(A) 2 (B) 3 (€) 4 (D) 5

6. Which part of nervous system is involuntery in action? S bt S Lo 6

) (A) Sometic nervous system (j” T /e s (B) Autonomic nervous system H’"’ L idT
(C) Sensory nervous system (*" Ui U (D) Motor nervous system (!" s
' 7. The function of ribs is to protect. —& tf;:ﬁﬁ?r‘ﬁfu:}?' T

(A) Lungs and heart <55 (B) Stomach s~
(C) Spinal cord 361 (D) Liver £

8. Production of the individuals of the same species is called: -g.tﬂﬁ/f{.;;f;tf.ﬁ_ﬁ/;}'@@ 8
(A) REDFDUUCﬁDnu’ij@J (B) Mitosis Ul (C) Endosperm (sl (D) Genotype q._.fL‘xi'i’

9. Budding is a kind of: <L LLL 9
(A) Sexual reproduction 3z f+% (B) Pollination ¢y
(C) Asexual reproduction c/"'},ﬁJJ'}?L; (D) Endosperm ,'/;‘.si';l

10. Genes are made up of; ~Utlse 72 10
(A) Chrc:mnsnmes,?fﬂ/ (B) DNA < I_¢JI-(§3 (C) Chromotids s/ (D) Helix uj"*/

11. Parents pass their characteristics to their children through: ,Ugifﬁ@g@yﬁ@:fq Ay 11
(A) Genes (B) Blood Serum ¢z2t  (C) Blood cells A% (D) Protein ¢fsy

12. The biotic compenent of ECO system is: _,a:__;j?,_ff]:(’}j__-gj 49

‘ (A) Producers J/43s/ (B) Oxygen J’:f'l' (C) Light dﬁ,u (D) Water d&
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8.8.C - (Part-II) -A-2018

Roll No. :_../r:;:u‘:‘.:lg,g._-*i
B]Ol()gy (Essay Type) wassion; ZGOI.;:.ng:'BHJ; (:;’L*:J!) ;.:.;E‘l:)
_ Marks: 63 Time: 2:45 Hours £ 2:45:=5 63: 7
Section-I 2x16=32 gd_)jiw
2- Write short answers of any Six part from the following. 2x6=12 Lif/‘ﬁ.flﬂ;; ;‘::,JJ;E,;.: -2
* i. Describe the function of epiglottis. ubd”b’gﬁﬂﬁi A
" ii. Define breathing. _cé(...ni/’[_,r‘_)’” i
iii. What is meant by bronchitis? ?%:Vk s i
«v. What are ligaments? Describe their function. _égj_l,zd”bfuf?ugkfui?ﬁ v
v. Write names of types of cartilage. -w?‘tf_r'lﬁhfib’ V
vi. What is meant by gout? sl 1Y Vi
vii. Define decomposers and give an example. ,L,f,,dt':-h,g,,r Ly "Lj',;,;,_:f 3 Vi
viii. What are endoparasites? Give an example. _JJJLZ-J*‘L;‘L-@'J"LL;*M«-: viii
Xi. What is meant by acid rain? F "‘L:I/U/:,J;L(}I; X
3- Write short answers of any five part from the following . 2x5=10 gu“f/"!‘(—lﬁffl f/Lcddf‘:.ufJJEm -3
i. What is size and weight of Human kidney? "‘»:f._,b@uubblﬁ'ufdbf N
ii. What is thermoregulation and excretion? ?{,}E@_fc}g’"/agbﬁﬁlfﬂ’/; i
iii. How many layers has our skin? write names. _w.’,@tu,?fnﬁlfdm Jii
iv. Write names of the parts of flower. _L;::’?-t[_’ur-ﬂ?zi,_),{ Jiv
v. What is meant by pollination? ?{_;r/g;.u'}fl}; WV
vi. Describe significance of Biotechology. ,qubeJJ,JLCyL Vi
vii. What is Gene therapy? Write briefly. ..u:f"g W‘*’c:_J /l/.r.:dfffu” Vii
viii. What is continous fermentation? ?:.UJ”"}J’V viii
4- Write short answers of any five part from the following . 2x5=10 c‘_’ﬁq.-fU?/‘fA:Hff 6L:,df.::..u¢g_hbu -4
i. Which protein regenerates the broken nerve celis? ":-_d/(g,f:fdufu"/d;d/)’-f; wid_d i
ii. What is acromegaly? ':‘:‘:_Lfoé{/fl i
iii. Define gene. SISy P8 i
iv. Write the name of Darwin's book. ,uf'erbuD'Ju;;r; Av
v. What is selective breeding? "‘::.,Lf\.f,».uﬂ' L:L:»Lfr"‘ v
vi. Which chemical was used to sterlize surgery by Joseph Lister? et T Ly d;/_ﬁf_uwn_ﬂ_w Vi
vii. Define vaccines? -J/J/JJ/’C Vi |
viii. Define "Antibodies” S 8 i |
Section -II (22>
Note: Answer any three questions from the following. 7x3=21 _u’f /._JLI?Z._,UW Uﬂ’;df;.u’()';{’,ﬂ Wy
5. (a) Write down the symptoms of Amphysema and pneumaonia. 04 -tf ffuLl#Jlr!‘:Ullf"Lflf () .5
(b) Write a note on kidney transplant. 03 ..u.‘.”{.,ffg LgJi;d,u((u)
6. (a) Write a note on Paralysis and Epilepsy of disorders of nervous system. 04 u““’o‘uﬁf[zf’ui“éE’Lf”/ié:f'lw,f_(hdi) .6
(b) Explain the moveable joints with examples. 03 -Jf...-vL.m.:.u:JLﬁJu" 2d i ST ()
7. (a) Write a note on binary fission and budding. 04 _ufﬁu!{J¢J:ru”d/L_(Jl) T
(b) Explain process of spore formation. 03 _L{fyu,ufdfié':_-ﬂr_(ﬁ.,)
8. (a) Explain co-dominance and incomplete dominance with examples. 04 _L{/.:..:L'a;:..uﬂt‘xd’ () .8
) (b) Explain abiotic components of ecosystem. 03 ..qu_w L:::&r:an..ff I_,;-_If.r*",{ I.(>)
9. (a) Describe the basic steps for achieving objectives of genetic 04 SYLi S ferl £ 2 G2 (L) .9
" engineering. ; Sk Sy
" (b) Describe three major groups of antibiotics. 03 ﬁfjlﬂf .vf;_f‘_,t.ﬁ.u—f‘;f _LJ:"-L(..;.,)
Section -III (Practical) (ul’f
. NOTE: Answer any two parts from A,B and C. 5x2=10 _Jffutfiﬁfifrj:cdfad Cale i g
10.(A) (i).Write down the procedure of the experiment to compare 03 meumggmuw LT.(0) -().10
breathing rate at rest and after exercise. L;:f’gs;.g; pi7n / ;C,.,,;l'y
(ii).Draw a labelled diagram of internal structure of sheep's kidney. 02 /L/LFJ_-?L/L}J;.# Jr_. }f’-'.(ii}
Ly
(B) (i).Write observations of binary fission in Amoeba. 03 &UHIJL,-,{:L;’LS;LU"V (i) .,(_,)
(ii).Draw a labelled diagram of structure of skeletal muscle. 02 .&’ﬁtcﬁurﬂ’fbﬁJJvL{J’ == (i)

C) (i).Write down the procedure to investigate role of bacteria in 03 5’5_/?,1://;}/1 L/..Cu‘br“}w,, ) (&)

fermentation of milk.

(ii).Define cutting and give its two examples. 02 Hﬂgjﬁd@mﬁm‘g:y/)l{g)}rﬁ'?{m
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RollNo.________

e /:;’.:fﬂs,yf _

(For all sessions)

8.5.C - (Part-1I) -A-2019

Paper Code | 7

Group-I- s-;d/(_

Biology (Objective Type)l
Marks: 12

Time: 15 Minutes J2415 =

() =fl

12:4

/;diruigéfdfﬁr 5 *uﬂf?}f._.,mu"imga‘féguﬂf,c,B,A@I,fﬁ;,ﬁagédrmg{;QK@muﬁ/ﬁ@;t,,i;:L.;-JUIer'?:.:..)

S SN e S UsLD L CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
_are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. Glucose molecule is broken into Pyruvic acid.

(A) 5 (B) 3 (C)

2. Drugs obtained from minerals is:

..ci'_.EEJZQLLHIﬁ;J&IL;d;QLbQKJ;rg % P |
2 (D) 6
_:‘:..Lil.m}/{}ibc:.u::yﬁf 2

(A) Morphine 44 (B) Asiprin /¢ (C) Antitoxin otk (D) lodinetincture oz 3T

3. The length of trachea is: _.‘:.JﬁJI,A‘J"bQ 3
(A) 12cm (B) 14cm (C) 16cm (D) 18cm

4. The weight of human kidney is about: :[,;;J,;_mw..s@_;f&ur 4
(A) 126gm (B) 270gm (C) 120gm (D) 100gm

5. The name of gland present below the human neck region is:

(A) Parathyroid %L1z (B) Thyroid 101 (C)

6. The hormon which increases the quantity of calcium ions in blood is:

ce b LSt/ 5
Adrenalgland ¥ 241 (D) Pancrease L%
-;;;u,rw‘LuuLLa:»:A,&‘»J:iff%twﬁ 6

(A) Adrenalin ﬁhﬂ,‘,l (B) Calcitonin Jﬁu‘-—"’( (C) Parathermone iz (D) Thyroxin L-;"LJ[E

7. Number of bones in both hand is:-

(A) 33 (B) 80 (C)
8. Ripened Ovary changed into: -

(A) Seed 6 (B) Fruit i (©)
9. External fertilization is found in: |

(A) Amphibians U240 (B) Mammals (i  (C)

10. A cross in which only one trait studied at a time is called:
(A) Dihybrid cross /%2003 (B)
(C) Monohybrid cross JI/EAJI;:}:’ (D)
11. Gene consiét of:
(A) RNA (B) mRNA (C)
12. Example of ectoparasite is:

(A) Leech o £2 (B) Viruses /s (C)

_:‘F_‘_JI.)-;J.JU{'.%L}:L)};‘AU;JJ i

54 (D) 126
_?Jlgﬂd“f/ugljﬂjl 8
Flower J‘J# (D) Zygote u:lf:..‘:’U
P M T
Birds  AUssy (D) Reptiles b

e b el S Lt 10
True breeding fé;::}
Domonient  wa4s
Uil 2 11
Protein ufs,; (D) DNA |

e S 12

Tapwarm (s’ (D) Plasmodium (=3t
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S5.5.C - (Part-11} -A-2019

RollNo._____________« /it (For all sessions)
Group-I- n.;d/ ‘
BlOlOgy (Essay Type)
Marks: 48 Time: 1:45 Hours 2( 1:45:25y
~ Section-I 2x15=30
» _ 2-Write short answers of any five part from the following.  2x5=10

i. What is double pneumonia?

i. ' Wha is meant by passive smoking?

Y i What s lithotripsy?
Iv. Explain peritoneal dialysis briefly?
v. What is loop of henle?
vi. Give function of frontal lobe.
vii. What is somatic nervous system?
viii. What is hypermetropia?
3- Write short answers of any five part from the following .
i. Describe roles of tendons and ligaments.
i. Define bone. What is its function?
li. Differentiate between Spermatogenesis and Qogensis.
iv. Explain traits with examples.
v. How does AIDS spread?
vi. What is meant by nucleosomes?
R ° vii. Define translation.

viii. Differentiate between Genotype and Phenotype.
; 4- Write short answers of any five part from the following.
i. Define community and population.

ii. What is the threat for Maldives due to ocean?

iii. What are the products of the two types of carbohydrate fermentati-:nn.

iv. Describe the uses of Glucerol in industries.
v. How gene of interest is isolated in genetic engineering?
vi. How Edward Jenner use the vaccine?
vii. Name any two Narcotics obtained from opium.
viii. What is Social Stigma?
Section -II

Note: Answer any two questions from the following..
5. (a) Which are the bad effects of smoking?

v (b) Write types of "Neurons" and also describe their functions.
6. (a) What is cartilage? Discuss its types.

z '(b) Describe any four methods of natural vegetative propagation.

7. (a) Write a detailed note on Carbon cycle.

(b) Describe any eight achievement of genetic pngineering.
34-010-A-

2x5=10

2x5=10

4‘!0...«;!.?/‘“"’2.’.#:?! éL:.J)’a.‘,chw -2

vﬂ.U’L—J”J: A
Sl St i
S A i
_Lg/yw;ﬁ?(f}udﬂﬂdfﬁdﬁ v
?:F:_gf'éf.f'...if___f}j v
LS SIS i
e Uiy i
?::.trrl.ﬂ.!/fL Viii

#guylf/‘-’ff-lrl?l 6L¢-J!(£.-L¢¢JJZ/JJ -3

_q/ugdwiéu“@uwf J

Se V¥ 884 i
SISl e i
L,g/;-_u:ft‘»yu:J (Traits}u%} AV
?-;J%gédﬂ::&é' v

S e prdi Vi
Ly AL A i

ST PS 32 i
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.rgi.ifﬂfu‘w LAl
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S bl e hshUtE A G v
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ryw
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{:( 'ﬁ' S5.5.C - (Part-11) -A-2019

Roll No.__ e St (For all sessions) PaperCode| 7 | 4 | 6 | 4

Group-II- .,,.f:/

. . . - *»
BlOlOgy (Objective Type) (S52) i:-f!f.l:’ ‘
Marks: 12 Time: 15 Minutes 4415 &3 12:4
/dlyuuds’drf: & T NS tdé sDusl,C,B A_aL'.?yﬁbﬁJlffﬁqfdde?f/dewtfiéuU'frV ¥
_J:ﬁLLﬁLJJLI e I 3e L UsAED | CBA szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
_are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. Which one is fermented food: e uﬁ:@f)duf 1.1
(A) Wheat flour ¢T62c” (B) Powder milk 235, (C) Vitamins j#bs (D) Yogurt
2. The medicine obtained from mineral is: e/ P i 2
(A) Tinctureicdlnec{jf?ﬁf (B) Aspirin ¢ £ (C) Vaccine == (D) Pencilline u.J"*
3. Stoma are abundantly present: _.L,ngﬁr:_,;-.«jﬂﬁf' 3
(A) on upper epidermis of leaf {fﬁJJl_,J?;_, . (B) onstem /&
(C) In Xylem cells Jﬁfﬁu "~ (D) In Phloem cells J)fﬁh
4. Secretions secreted by confiers are called: :ngffu;:hdui.x@;uc_; 24
(A) Gums / (B) Mucilage é::' (C) Resins zz. (D) Latex u’@
5. Which lobe is concerned with hearing and smell IR RGeSO 1 G
(A) Frontal (B) Temporal Ui (C) Occipital JusT (D) Parietal iz
6. Which Scientist wrote three books on Ophthalmology? ?u:{ﬁb"@f{d)#ﬁffi_ufﬁvf 6
(A) Abn al Haytham (f:-*)ruxr (B) Alilbnlsa (it
(C) Gregor Mendal Ji{:‘u{f (D) Andreas Vesalius u"?-”d;‘_,r&;jf;_f
7. Human both hands have bones: _Q.TJJ?LJL_E-J: uﬁ;uﬁnﬁuul i
(A) 50 (B) 52 (C) 54 (D) 56
8. The example of corms is: | -ﬁ_db’*l}f}'sf 8
(A) Ferns 2/ (B) Ginger sl (C) Onion Jl (D) Dasheen (S
9. The female reproductive part of flower is; ‘e UK TIAE)E 9
) calyx oY (B) Corolla s/ (C) Gynoecium (*d¢ (D) Androecium (x%!
10. The branch of Biology in which we study about inheritance is called: el 22y L Hunfit L EnSBIL 10
(A) Genetics u‘w (B) Ecology /¢ (C) Morphology (&JiA (D) Physiology (%417
11. Number of Hydrogen bonds between Adenine and Thymine is: u,:-_;lﬁ&:}:g&;;jﬂuwiwj@,r@y 11
(A) 1 (B) 2 (C) 3 (D) 4
12. Primary source of energy for all ecosystems is: ,.;,.;J;id;_t_&b’&}!é:f # yfer-’" h b
(A) Electricity &~ (B) Sun & (©) Fire J7 (D) Nutrients U~
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S.8.C - (Part-1I) -A-2019

RollNo._

i ~ (For all sessions)
Group-II- '.?..,/ .
BiOlOgy (Essay Type) |
Marks: 48 Time: 1:45 Hours & 1:45:=3
Section-I 2x15=30

2-Write short answers of any five part from the following. 2x5=10

i. What is difference between inhalation and exhalation?

i. What is Asthma? Write its symptoms.

iii. What is lithotripsy?

iv. What is kidney transplant? |

v. Differentiate between Renal Cortex and Renal Medula.

vi. Differentiate between nervous co-ordination and chemical co-ordination.

vii. Define the terms hormone and endocrine system.

viii. Describe two important functions of spinal cord.
3- Write short answers of any five part from the following.  2x5=10
. Differentiate between bone and cartilage.
ii. Define Hinge joints.
li. Define Hypogeal germination with an example.
iv. How spermatids are converted into sperms?
v. What is meant by external fertilization?
vi. Define Homozygous genotype.
vii. Write the names of four nitrogenous bases.
viii. Define trait.

4- Write short answers of any five part from the following.  2x5=10
~i. What is meant by urbanization? Give its two reasons.
ii. Define symbiosis.
ii. Why are the transgenic organisms being developed?
iv. Write down tﬁe uses of formic acid.
v. What is meant by Alcoholic fermentation.
vi. Write down drugs obtained from minerals:
vii. What are cephalosporins? Write its uses.
viii. Define vaccines.

Section -II

Jil o
&z bledieiditn 2
e OV A E 4T |

A S 1S s i
e A i

Seslple & U;"i}dﬂ/ v

- é}%l:u"/’u: UJ.:};‘&JJJ fJ"C;KﬁJ V

- éifgl:dhfu: GF:ULTJ(LE‘{JJIL')&:L;LTJLKU: Vi

S YPSETIS sl et i
Lol NS i
&y B Grediettitn -3
LI LEKAN DS}
L EHSAE
-y S IE i
St SR UAT IR i
Tl "!/r’:.(:f“:*}fﬂ_»f}‘j*ul V
-y f s i i
L S i
L&y FSest vii

&eyn B iz bhe (e ttstn 4

_ufdm[,ﬁ;;;Jm?.{._;yg‘-_cﬁﬂpr i
ST AT T
St e o p Ui Y i
LA iy
?,‘;,;ygf.:,ff”}.ﬁsq V
,J/Q«f..-;_gmufd‘u:_;yw Vi
L Fe WL el i
LS BP5H i
(2 v ‘

Note: Answer any two questions from the following. 9x2=18 _q&faglﬂﬁaﬂlﬂ:&dﬁ:—;,J!J_j@.{.; O

5. (a) Describe osmoregulatory function of kidney. 05 c’ﬁ:;_t_,d” ¢ ﬁ:fzrf’i&:..s/i(..ﬂl) 5
(b) Write a note on structure, function and lobes of cerebrum. 04 ..u:/grf._*..ﬁ{mb:r.-»ivfdbiliir,;/-(n.‘.:) |

- 6. (a) Write a note on disorders of skeltal system. 05 _.u:"[hﬁ{u"r IZ.H"' == () .6

(b) Discribe the advantage and disadvantage of vegetative 04 _q/wkuuﬁu!f__fﬁf_ . "—-:,; s :Juu_;_‘ ()
propagation in plants. _

7. (a) Write a note on acid rain. 05 _u:.‘”{trﬁ,;j;g(‘,}i )X CS-)) B 4
(b) Explain objectives of Genetic Engineering. 04 -b;/ugﬁw‘aij /?.‘?/h.fé?.-(..__ﬂ)
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